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NOITULOS REPAP NOITSEUQ   
 

I ELUDOM  
 

DORTNI UCT OI N TO C AL NG AU EG  
 

 
selpmaxe htiw stnemetats tuptuo & tupni eht nialpxE .1 . (  YLUJ/NUJ ,4102 YLUJ

5102 ) 
 

: nloS :gniwollof sedulcni tuptuO / tupnI dettamroF  
 

  ftnirP  
tnys esohw tnemetats tuptuo dettamrof na si tI  a ;redro ni ,era stnemugra sti sniatnoc xa

,gnirts lortnoc   eb ot seulav fo tsil a yb dewollof ,detnirp teg tahw slortnoc hcihw
eht ni seirtne rof detutitsbus  :si )(ftnirp eht rof epytotorp ehT .gnirts lortnoc  

 
tamrof(ftnirP - ;)nrav..…2rav,1rav ,gnirts  

 
 

 
 

 
 
 C a fo erutcurts eht warD .2 - feirb ni nialpxe & margorp  /CED( 4102 NAJ  YLUJ ,

)5102 NAJ ,4102  
 
 

nloS  : woleb nwohs si margorp C a fo erutcurts cisab ehT  
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 eht fo eman eht gnivig senil tnemmoc fo tes a fo stsisnoc noitces noitatnemucod ehT

an eht ,margorp  .retal esu ot ekil dluow remmargorp eht hcihw sliated rehto dna rohtua em  
 metsys eht morf snoitcnuf knil ot relipmoc eht ot snoitcurtsni sedivorp noitces knil ehT

.yrarbil  
.stnatsnoc cilobmys lla sniatnoc noitces noitinifed ehT  

 t selbairav emos era erehT  era selbairav hcuS .noitcnuf eno naht erom ni desu era tah
.noitces noitaralced labolg eht ni deralced era dna selbairav labolg dellac  

 strap owt sniatnoc noitces sihT .noitces noitcnuf )(niam eno evah tsum margorp C yrevE
ap elbatucexe dna trap noitaralced  desu selbairav eht lla seralced trap noitaralced ehT .tr

  .trap elbatucexe eht ni tnemetats eno tsael ta eb dluohs erehT .trap elbatucexe eht ni
 margorp ehT .secarb gnisolc eht dna gninepo eht neewteb raeppa tsum strap owt esehT

epo eht ta snigeb noitucexe  fo ecarb gnisolc ehT .ecarb gnisolc eht ta sdne dna ecarb gnin
 .margorp eht fo dne lacigol si noitces noitcnuf niam eht  

.nolocimes a htiw dne strap elbatucexe dna noitaralced eht ni stnemetats llA  
resu eht lla sniatnoc noitces margorpbus ehT - tcnuf denifed  niam eht ni dellac era taht snoi

.snoitces rehto ot derapmoc tnatropmi yrev si noitcnuf niam ehT .noitcnuf  
 

evig a gnivlos fo sesahp tnereffid eht nialpxE .3  .retupmoc gnisu melborp n
3102 YLUJ/NUJ( ) 

 
nloS : :dewollof eb ot deen spets gniwollof ehT  

.1   eht daer ylluferac melborp  

.2  sliatne melborp eht tahw dnatsrednu  

.3  .melborp eht evlos ot spets eht nwod etirw ,neht ylno dna  
• tnemetatS melborP  
• noitpircseD tuptuO/tupnI  
• tnempoleveD mhtiroglA  

•  na dellac era spets esehT mhtirogla   laitneuqes fo tes a sa denifed eb nac taht
.melborp a evlos ot snoitcurtsni  

•  etirw ot si retupmoc a gnisu yb melborp a gnivlos fo tcepsa tnatropmi tsom ehT
 hcus ni nettirw eb tsum taht spets fo tes a si mhtirogla nA .ti evlos ot mhtirogla na

nac retupmoc ehT .esicerp dna suougibmanu ti si taht yaw a  flesti rof kniht ton – 
 reven yam uoY .od ot tahw yltcaxe retupmoc eht llet tsum remmargorp eht sa uoy
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 dedulcni ylticilpxe ton evah uoy fi gnihtemos od lliw retupmoc eht taht emussa
.pets cificeps eht  

 
snekot fo sepyt suoirav eht nialpxE ?snekot era tahW .4  elpmaxe htiw  . ( YLUJ/NUJ  

3102 , 4102 NAJ 5102 YLUJ/NUJ, ) 
 
 

nloS  : A nekoT  margorp a fo tinu tsellams eht dna cisab eht si  
era erehT  'C' ni snekot fo sepyt 6 :era yehT .  

sdrowyeK )1  
sreifitnedI )2  
stnatsnoC )3  

sgnirtS )4  
slobmys laicepS )5  

srotarepO )6  
sdrow yeK  tes retcarahC &  

 ot yrassecen si tI .sdrowyek dna xatnys gnisu demrof era egaugnal C ni snoitcurtsnI
 C htiw sehctamsim taht snoitcurtsni ynA .selur xatnyS egaugnal C wollof yltcirts

s sdrowyeK .margorp eht gnilipmoc elihw rorre na setareneg xatnyS egaugnal  dluoh
 egaugnaL C ni tes retcarahc ehT .seman tnatsnoC ro elbairaV sa rehtie desu eb ton

.seirogetac gniwollof eht otni depuorg eb nac  
 sretteL .1  
 stigiD .2  
 sretcarahC laicepS .3  
 secapS etihW .4  

stnatsnoC  
 

ton od taht seulav dexif ot refer C ni stnatsnoC   .margorp a fo gnitucexe eht gnirud egnahc
.woleb detsil era stnatsnoc fo sepyt lareves troppuS C  

 
 

.1  stnatsnoC ciremuN  
.i  stnatsnoC regetnI  
.ii  stnatsnoC laeR  

.2  stnatsnoC retcarahC  
.i  stnatsnoC retcarahC elgniS  
.ii  stnatsnoC gnirtS  

noitcudortnI srotarepO  
s a si rotarepo nA  niatrec a od ot retupmoc eht dnammoc ot resu eht spleh hcihw lobmy

 ot margorp egaugnal C ni desu era srotarepO .snoitalupinam lacigol ro lacitamehtam
.ylsuoiverp detsil sa srotarepo fo tes hcir a sah C .selbairav dna atad no etarepo   

repO fo noitacifissalC srota  
 srotarepo citemhtirA  
 srotarepO lanoitaleR  
 srotarepO lacigoL  
 srotarepO tnemngissA  
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 srotarepO tnemerceD dna stnemercnI  
 srotarepO lanoitidnoC  
 srotarepO esiwtiB  
 .srotarepO laicepS  

 
5. elcyc efil tnempoleved erawtfos nialpxE  . )3102 YLUJ/NUJ(  
 

:nloS  

 smetsyS  noitinifed stnemeriuqer ,sisylana  denifed otni slaog tcejorp senifeD :
dne sezylanA .noitacilppa dednetni eht fo noitarepo dna snoitcnuf -  resu

.sdeen noitamrofni  
 ngised smetsyS  gnidulcni ,liated ni snoitarepo dna serutaef derised sebircseD :

 ,stuoyal neercs  rehto dna edocoduesp ,smargaid ssecorp ,selur ssenisub
.noitatnemucod  

 tnempoleveD .ereh nettirw si edoc laer ehT :  
 gnitset dna noitargetnI  gnitset laiceps a otni rehtegot seceip eht lla sgnirB :

.ytilibareporetni dna sgub ,srorre rof skcehc neht ,tnemnorivne  
 tnemyolped ,noitallatsni ,ecnatpeccA  ,tnempoleved laitini fo egats lanif ehT :

.ssenisub lautca snur dna noitcudorp otni tup si erawtfos eht erehw  
 
.6   .sreifitnedi gniman elihw dewollof eb ot selur eht ssucsiD ?sreifitnedi era tahW

selpmaxE eviG  . YLUJ/NUJ(  )3102  
 

nloS  :   llA .reifitnedi ro drowyek rehtie otni deifissalc si drow yreve egaugnal c nI
 sa evres esehT .degnahc eb tonnac sgninaem eseht dna sgninaem dexif evah sdrowyek

v fo seman eht ot refer sreifitnedI .stnemetats margorp rof skcolb gnidliub cisab  ,selbaira
.syarra dna snoitcnuf  

 
sreifitnedi gninifed rof seluR : 

 sreifitnedI   )_(erocsrednu eht dna ,stigid ,srettel fo tsisnoc yam seman
:woleb nevig selur eht ot tcejbus ,retcarahc  

.1   ehT sreifitnedi   timrep smetsys emoS .rettel a htiw nigeb syawla tsum
ednu .retcarahc tsrif eht sa erocsr   

.2   htgnel eht ,revewoH  .sretcarahc 13 fo htgnel a sezingocer dradnats ISNA
 sretcarahc thgie tsrif ecniS .sretcarahc thgie naht eram yllamron eb ton dluohs

.srelipmoc ynam yb tnacifingis sa detaert era  
.3  a esacrewol dna esacreppU  eht ton si etaR elbairav eht, si tahT .tnacifingis er

.LATOT ro etar sa emas  
.4   ehT sreifitnedi  .drowyek a eb ton dluohs eman  
.5  .dewolla ton si ecaps etihW  
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7  .  elbuod ,rahc ,taolf ,tni daer ot noitcnuf ) (fnacs ni desu sreificeps tamrof nialpxE
nol dna  .sepytatad tnig )3102 YLUJ/ENUJ(  

 
     nloS  :  % ,regetni rof d%  era ) (fnacs ni desu sreificeps  tamroF  c% ,tniop gnitaolf rof f
 rof .elbuod rof f% ,retcarahc  

 
8 C ni elbaliava sepytatad  tnereffid nialpxE .  ( 4102 NAJ/ ceD 5102 YLUJ/NUJ, ) 

 :nloS lof eht sah C tliub cisab gniwol - .sepytatad ni  

 tni  
 taolf  
 elbuod  
 rahc  

 tni - epyt atad  

tni  srebmun regetni enifed ot desu si  

 taolf - epyt atad  

taolf  .srebmun tniop gnitaolf enifed ot desu si  

 elbuod - epyt atad  

elbuod  vreser tI .srebmun tniop gnitaolf GIB enifed ot desu si  eht rof egarots eht eciwt se
.setyb 8 eb ot ylekil si siht sCP nO .rebmun  

 rahc - epyt atad  

rahc  .sretcarahc senifed  

 
9  . elpmaxe htiw C ni srotarepo fo ytivitaicossa dna ecnedecerp nialpxE  
( 5102 NAJ ,3102YLUJ/NUJ ) 
 

:ecnedecerp srotarepo citemhtirA: nloS - 
 I  citemhtira eno gnitucexe yb detaluclac si noisserpxe yna fo eulav eht margorp a n

 na ni detucexe era snoitarepo citemhtira eht hcihw ni redro ehT .emit a ta noitarepo
 .srotarepo fo ecnedecerp fo selur eht no desab si noisserpxe  

 rotarepo fo ecnedecerp ehT : si s  
( yranU - TSRIF  )  

DNOCES   )*(noitacilpitluM  
)%( dna )/(noisiviD  

(noitcartbuS dna )+(noitiddA - TSAL )  
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 noisserpxe regetni eht ni ,elpmaxe roF – yranu eht d+c/b* a -  tluser eht ,tsrif enod si –  si a
vid regetni(c yb dedivid si tcudorp eht ,b yb deilpitlum  ehT .ti ot dedda si d dna )noisi

:suht si rewsna  
   - d+c/ba  

 .tsrif enod era snoitagen yranu eht llA .thgir ot tfel morf detaulave era snoisserpxe eht llA
 % dna / ,* lla won ;thgir ot tfel morf dennacs si noisserpxe eht siht gnitelpmoc retfA

 era snoitarepo  dna snoitidda eht lla yllaniF .ecnaraeppa rieht fo redro eht  ni detucexe
.noisserpxe eht fo tfel eht morf gnitrats enod era snoitcartbus  

 ot era selur ecnedecerp eht yb denrevog snoitarepo fo  redro eht fi desu era sesehtneraP
noisserpxe eht nI .neddirrevo   eht edisni noisserpxe eht sesehtnerap fo riap elgnis a htiw

 eht yb denrevog si noitaulave eht sesehtnerap eht nihtiW .TSRIF detaulave si sesehtnerap
.selur ecnedecerp  

:noisserpxe eht ni ,elpmaxe roF  
  a+)k+m/k * d+c(/b * a  

tnerap eht nihtiw noisserpxe eht :gnivig tsrif detaulave si seseh  
  k+m/kd+c  

 fo selur eht niaga gnisu thgir ot tfel morf detaulave si noisserpxe eht siht retfA
gnivig ecnedecerp  

  a+  k+m/kd+c/ba  
srotarepo fo ytivitaicossa ehT : 

orf rehtie detaulave era ecnedecerp emas eht fo srotarepo ehT  ro thgir ot tfel m
 na fo ytreporp ytivitaicossa eht sa nwonk si sihT .level eht no gnidneped tfel ot thgir morf

.rotarepo  
 :srotarepo eht fo ytivitaicossa eht swohs woleb elbat ehT  

            srotarepO    ytivitaicossA  
    ] [ )(      thgir ot tfel  
    ! ~  – )yranu(       thgir ot tfel  
 >><<                    thgir ot tfel  
 =>>  =<<                   thgir ot tfel  
           =!  ==                    thgir ot tfel  

&    thgir ot tfel  
                       ^     thgir ot tfel  

         |     thgir ot tfel  
 &&     thgir ot tfel  
       ||     thgir ot tfel  
 :?     tfel ot thgir  

= += - =>> =<< =| =^ =& =% =/ =*  tfel ot thgir  
 )rotarepo ammoc(,   thgir ot tfel  

 
 
01 .  ?noisrevnoc epyt fo syaw tnereffid eht era tahW ?noisrevnoc epyt si tahW

( .elpmaxe na htiw nialpxE  YLUJ/NUJ 5102 NAJ ,3102 ) 
 

 : nloS  atad rehtona otni ,epyt eno fo noisserpxe na ro dnarepo gnitrevnoc fo ssecorp ehT
:sepyt owt era erehT .noisrevnoc epyt ro gnitsac epyt sa derrefer si epyt  
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)1         )citamotuA ro ( gnitsac epyt ticilpmI  
)2   gnitsac epyt ticilpxE   
)3     

pmI gnitsac epyt ticil  fo noisserpxe na ro dnarepo na gnitrevnoc fo ssecorp eht si sihT :
 fo emit eht ta flesti relipmoc eht yb enod si ssecorp siht ;epyt rehto otni ,epyt eno

.noisrevnoc epyt citamotua sa nwonk osla si ti ecneH .noitucexe  
 ticilpmi rof elpmaxE    :noisrevnoc epyt  

                   ; a  tni  
                                  ; c , b  taolf  

         55.0  = 9 / 5    b / a = c  
gnitsac epyt ticilpxE  ,epyt eno fo dnarepo na strevnoc hcihw ssecorp eht osla si sihT :

 ssecorp siht tuB ;epyt rehtona otni .sreifilauq epyt gnisu yb ylticilpxe resu eht yb enod si  
 :noisrevnoc epyt ticilpxe rof elpmaxE  

                   ; b , a tni         
; c   taolf  

          erehw   55.0 = 9 / 5(   b / a )taolf( = c )taolf(     .reifilauq epyt sa dellac si  
 ht esu t’nod ew fI  rewsna htiw stluser ti   )taolf( reifilauq epyt e 00.0    fo daetsni .55.0  
 
11 .  elbairav driht gnisu tuohtiw sregetni owt fo seulav paws ot margorp C etirW

)3102 luj/nuj( .emas eht rof trahc wolf evig dna  
 
   :nloS >h.oidts< edulcni#  

)(niam  
{ 

 ;01=b ,5=a tni  
a=b ;b+a=a - a=a ;b - ;b  

} 
 
 
21 dniF .  .2=a ,6=k ,2=j ,4=i htiw snoisserpxe gniwollof eht fo hcae fo tluser eht  
    )2/k=/j(*i=a )v   )k+2=j(+i =m )vi  3/i=%i )iii  k=/j=j )ii    j+i=*k )i  )3102 luj/nuj(  

 
)i  62=   2+4*6 =j+i*K=K ,j+i=*K  
)ii  0 =6/2=j ,k/j=j ,k=/j=J  
)iii  =%i 0=3/4%i=i ,3/i%i=i ,3/i  
)vi  21=8+4=m ,)6+2=j(+4=m ,)k+2=j(+i=m  

)v  0=)2/6/2=j(*4=a ,)2/k/j=j(*i=a  
 
 
31  . C ni srotarepo lanoitaler nialpxE htiw ,  selpmaxe  . ( NAJ  4102  NAJ ,4102 YLUJ ,

5102 YLUJ/NUJ,5102 ) 
 

nloS  lanoitaleR )i:  
lno sniatnoc noisserpxe lanoitaler elpmis A  eht sekat dna rotarepo lanoitaler eno y

.mrof gniwollof  
2pxe rotarepo lanoitaler 1pxe   
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 ro selbairav ,stnatsnoc elpmis eb yam hcihw ,snoisserpxe era 2pxe dna 1pxe erehW
 dna snoisserpxe lanoitaler fo selpmaxe fo tsil a si woleb neviG .meht fo noitanibmoc

ave .seulav detaul   
EURT 52 =< 5.6   

- ESLAF 0 > 56   
EURT 5 + 7 < 01   

 
 rotarepO   gninaeM  
 <   naht ssel si  
 =<    ot lauqe ro naht ssel si  
 >   naht retaerg si  
 =>    ot lauqe ro naht retaerg si  
 ==    ot lauqe ton si =! ot lauqe si       
 

c ot deriuqer si ti netfO  a tuo gnirb dna sdnarepo neewteb pihsnoitaler eht erapmo
.ylgnidrocca margorp dna noisiced   
.erutcip otni emoc rotarepo lanoitaler eht nehw si sihT   

.srotarepo lanoitaler gniwollof eht stroppus C   
 

tnemercnI )ii  
reneg ton srotarepo lufesu yrev owt swolla C  eht era esehT .segaugnal rehto ni dnuof ylla

 dna ++ :srotarepo tnemerced dna tnemercni --  
 elihw ,)elbairav( dnarepo eht ot 1 sdda ++ rotarepO ehT - -  yranu era htoB .1 stcartbus

b nevig si srotarepo eht fo xatnys ehT :mrof gniwollof eht sekat dna srotarepo wole  
   eman elbairav ++ .1  
   ++eman elbairav .2  
   .3 --  eman elbairav  
  eman elbairav .4 --   

 eht dna dnarepo fo eulav tnerruc eht ot 1 eulav eht sdda ++ rotarepo tnemercni ehT
 rotarepo tnemerced --  .dnarepo fo eulav tnerruc eht morf 1 eulav eht stcartbus  

 stnemetats mrof yeht nehw gniht emas eht naem ++eman elbairav dna eman elbairav++
 dnah thgir eht no noisserpxe ni desu era yeht nehw yltnereffid evaheb yeht ,yltnednepedni

.tnemetats tnemngissa na fo edis   
gniwollof eht redisnoC   

 
;5 = m  

)xiferp( ;m++ = y  
 

6 eb dluow m dna y fo eulav eht esac siht nI   
sa tnemetats evoba eht etirwer ew fi esoppuS   
;5 = m   

 xiferp A .6 eb lliw m fo taht dna 5 eb lliw y fo eulav eht nehT )xif tsop( ;++m = y
ot dengissa si tluser eht neht dna dnarepo eht ot 1 sdda tsrif rotarepo   eht no elbairav eht

 tfel eht no elbairav eht ot eulav eht sngissa tsrif rotarepo xiftsop a ,dnah rehto eht nO .tfel
.dnarepo eht stnemercni neht dna   

lanoitidnoC )iii  
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 ):( noloc eht dna )?( kram noitseuq eht slobmys 2 fo stsisnoc rotarepo lanoitidnoc ehT
T swollof sa si rotarepo yranret a rof xatnys eh  
    3pxe : 2pxe ? 1pxe  
 

 eulav sti & detaulave si 2pxe neht eurt si noisserpxe eht fI .tsrif detaulave si 1pxe ereH
 eulav sti dna detaulave si 3pxe ,eslaf si 1pxe fI .noisserpxe eht fo eulav eht semoceb

semoceb  .detaulave si noisserpxe eht fo eno ylno taht etoN .noisserpxe eht fo eulav eht  
 

elpmaxe roF  
  ;01 = a  
    ;51 = b  
     b : a ? )b > a( = x  

 
.b fo eulav eht ot dengissa eb lliw x ereH  

gissa si b erofereht eslaf si noisserpxe eht taht swollof noitidnoc ehT .x ot den   
.srotarepo laicepS )vi  

 ,rotarepo fo ezis ,rotarepo ammoc sa hcus tseretni fo srotarepo laiceps emos stroppus C
 dna .( srotarepo noitceles rebmem dna )* dna &( srotarepo retniop - .)>  

mer ehT .ereh dessucsid era srotarepo ammoc eht dna fo ezis ehT  era srotarepo gninia
.sretpahc gnimoc htrof ni dessucsid   

 
rotarepO ammoC ehT  

.rehtegot snoisserpxe detaler knil ot desu eb nac rotarepo ammoc ehT  
ammoc A -  tsom thgir fo eulav dna thgir ot tfel detaulave era snoisserpxe fo tsil deknil

ulav eht si noisserpxe .noisserpxe denibmoc eht fo e   
 
  tnemetats eht elpmaxe roF  
  ;)y + x ,5 = y ,01 = x( = eulav  
  

 eht sah ammoc ecniS .eulav ot 51 sngissa yllanif dna y ot 5 dna x ot 01 sngissa tsriF
yrassecen si sisehtnerap eht srotarepo ni ecnedecerp tsewol   

 
 fo ezis ehT rotarepO  

 deipucco setyb fo smret ni elbairav ro epyt atad eht fo ezis eht sevig fo ezis rotarepo ehT
.reifilauq epyt atad a ro tnatsnoc a ,elbairav a eb yam dnarepo ehT .yromem eht ni   

 
   elpmaxE  
   ;)mus( foezis = m  
    ;)tni gnol( foezis = n  
 

o ezis ehT  serutcurts dna syarra fo shtgnel eht enimreted ot desu yllamron si rotarepo f
.remmargorp eht ot nwonk ton era sezis rieht nehw   
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  41 C ni srotarepo esiwtib nialpxE .  . ( 5102 YLUJ/NUJ,4102 YLUJ,4102NAJ ) 
:nloS  

 

gaugnal C yb detroppus srotarepo esiwtiB ehT  emussA .elbat gniwollof eht ni detsil era e
:neht ,31 sdloh B elbairav dna 06 sdloh A elbairav  

rotarepO  noitpircseD  elpmaxE  

&  tluser eht ot tib a seipoc rotarepO DNA yraniB
 .sdnarepo htob ni stsixe ti fi  

 si hcihw 21 evig lliw )B & A(
0011 0000  

|  yraniB  ni stsixe ti fi tib a seipoc rotarepO RO
 .dnarepo rehtie  

 si hcihw 16 evig lliw )B | A(
1011 1100  

^  tes si ti fi tib eht seipoc rotarepO ROX yraniB
 .htob ton tub dnarepo eno ni  

 si hcihw 94 evig lliw )B ^ A(
1000 1100  

~ si rotarepO tnemelpmoC senO yraniB   yranu
 .stib 'gnippilf' fo tceffe eht sah dna  

 evig lliw ) A~( -  si hcihw 16
 tnemelpmoc s'2 ni 1100 0011

 yranib dengis a ot eud mrof
.rebmun  

<<  
 sdnarepo tfel ehT .rotarepO tfihS tfeL yraniB

 stib fo rebmun eht yb tfel devom si eulav
o thgir eht yb deificeps  .dnarep  

 si hcihw 042 evig lliw 2 << A
0000 1111  

>>  
 sdnarepo tfel ehT .rotarepO tfihS thgiR yraniB

 stib fo rebmun eht yb thgir devom si eulav
 .dnarepo thgir eht yb deificeps  

 si hcihw 51 evig lliw 2 >> A
1111 0000  

 
 
51  nialpxE . ( .C ni srotarepo yranu NAJ  )4102  

:nloS  

 llA .dnarepo elgnis a htiw rotarepo yranu a gninibmoc yb demrof era snoisserpxe yranU
thgir evah dna ecnedecerp lauqe fo era srotarepo yranu - ot -  yranu ehT .ytivitaicossa tfel

 :era srotarepo  

 ( sunim yranU -  )+( sulp yranu dna )  
  noitagen lacigoL  )!(  
 ( tnemerced dna )++( tnemercni xiferP - -  )  
  )*( noitceridni dna )&( rotarepo sserddA  
  )~( )tnemelpmoc s'eno( noitagen esiwtiB  
  rotarepo tsaC  
 foezis  .rotarepo  
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 .61  dna tseretni elpmis etupmoc r,t,p tupni sa sekat hcihw margorp c a etirW
er eht yalpsid tlus )5102 YLUJ/ENUJ( . 

>h.oidts<edulcni#:nloS  
         >h.oinoc<edulcni#  
          )(niam dioV  

 {  
        ;IS,r,t,p tni  
        eulav r dna t , p retne“(ftnirp \ ;)”n  
        ;)r&,t&,p& ,”d% d% d%“(fnacs  
        001/r*t*p=IS  
        p ;)IS,”d%“(ftnir  

 } 

 

 
UDOM II EL  
 

HCNARB I GN  DNA  LO PO ING 
 
 
1  .  & xatnys rieht htiw 2 yna nialpxE .stnemetats gnikam noisiced tnereffid eht tsiL

 .elpmaxe  5102 YLUJ/NUJ,5102 NAJ,3102YLUJ/NUJ( ) 
 

nloS  fi ehT)i : - tnemetats esle  
 tnemetats fi detseN)ii  
 eslE)iii - tnemetats reddal fi  
 wS)vi tnemetats hcti  
 
  )i fi ehT - tnemetats esle  

xatnyS  
)noitidnoc(fi  

{ 
1)s(stnemetats  

} 
esle  

{ 
2)s(stnemetats  

} 
;tnemetats txen  

eht fI .sevitanretla owt neewteb esoohc ot margorp eht swolla tnemetats esle ... fi ehT  
retfa )s(tnemetats eht ,deifsitas si noitidnoc  spiks neht gnissecorp dna ,detucexe era fi eht  

ot sehcnarb gnissecorp eslaf si noitidnoc eht fI .tnemetats txen eht ot kcolb esle eht revo  
fi yrotadnam ton era secarb ylruc eht erofeb sA .esle eht retfa )s(tnemetats fo kcolb eht  

i noitca eslaf ro eurt eht  meht esu ot elbasivda si ti revewoH .tnemetats eno ylno sevlovn
.ytiralc rof  
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:elpmaxe roF -  

>h.oidts< edulcni#  
)(niam  

{ 
 ;x tni  

regetni na tupni“(ftnirp \ ;)”n  
;)x&,”d%“(fnacs  
)0 == )2 % x(( fi  

rebmun neve si ti“(ftnirp \ ;)”n  
esle  

rebmun ddo si ti“(ftnirp \ ;)”n  
} 
 

)vi tnemetats hctiwS  
 

:xatnyS  
{)rpxe( hctiws  

:1tsnoc esac  
;)s(tnemetats  

:2tsnoc esac  
;)s(tnemetats  

.…  
:ntsnoc esac  
;)s(tnemetats  

:tluafed  
;)s(tnemetats  

} 

  ylno nac tub ,derutcurts llew si tI .noisiced yaw itlum eht fo mrof rehtona si sihT
i desu eb  ;erehw sesac niatrec n  

  .elbairav taht fo eulav eht no dneped tsum sehcnarb lla ,detset si elbairav eno ylnO
 .)rahc ro trohs ,gnol ,tni( .epyt largetni na eb tsum elbairav ehT  

 hctac ,lanif A .hcnarb elgnis a lortnoc nac elbairav eht fo eulav elbissop hcaE   ,lla
 .sesac deificepsnu lla part ot desu eb yllanoitpo yam hcnarb tluafed  

 fo eulav eht esac hcae nI meti i  era selbairav ,tnatsnoc a eb tsum ton   .dewolla  
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 ehT kaerb   eht etanimret ot tnaw uoy fi dedeen si hctiws   .eciohc eno fo noitucexe retfa
eht esiwrehtO   .detaulave teg dluow esac txen  

 ehT tluafed   .sesac rehto yna sehctac dna lanoitpo si esac  

:elpmaxe roF -  

 
          )rettel( hctiws  

    { 
     :'A` esac  
     :'E` esac  
     :'I` esac  
     :'O` esac  
     :'U` esac  
       ;++slewovforebmun  
       ;kaerb  
  
     :' ` esac  
       ;++secapsforebmun  
       ;kaerb  
  
     :tluafed  
       ;++stnatsnocforebmun  
       ;kaerb  
    } 

 fo eulav eht fi elpmaxe evoba eht nI  slewovforebmun neht 'U` ro 'O` ,'I` ,'E` ,'A` si rettel
 .detnemercni si  

 fo eulav eht fI rettel  ` si   neht ' secapsforebmun   .detnemercni si  

 eht neht eurt si eseht fo enon fI tluafed   si taht ,detucexe si noitidnoc stnatsnocforebmun   si
.detnemercni  

2 c eht etirW . -  gnipool eht lla htiw rebmun a fo lairotcaf eht dnif ot edoc
.stnemetats 4102 NAJ( ) 
ulcni# : nloS >h.oidts< ed  

)(niam dioV  
{ 
 ;n,tcaf ,I tnI  
 n fo eulav eht retne“(ftnirP \ ;)”n  
 ;)n& ,”d%“(fnacS  
 ;1=I  
 ;I=tcaF  
 )n=<i(elihW  
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 { 
  ;I*tcaf=tcaF  
  ;++I  
 } 
 d% si d% a fo lairotcaf“(ftnirP \ ;)tcaf ,n ,”n  
 ;)(hcteG  
 }  

>h.oidts< edulcni#  
v )(niam dio  
{ 
 caf ,I tnI ;n,t  
 n fo eulav eht retne“(ftnirP \ ;)”n  
 ;)n& ,”d%“(fnacS  
 ;1=I  
 ;I=tcaF  
 oD  
 { 
  ;I*tcaf=tcaF  
  ;++I  
 ;)n=<i(elihw}  
 d% si d% a fo lairotcaf“(ftnirP \ ;)tcaf ,n ,”n  
 ;)(hcteG  
 }  

 
 

>h.oidts< edulcni#  
)(niam dioV  

{ 
 ;n,tcaf ,I tnI  
  fo eulav eht retne“(ftnirP n\ ;)”n  
 ;)n& ,”d%“(fnacS  

;I=tcaF  
)++i;n=<i;1=i(roF  

{ 
  ;I*tcaf=tcaF  

} 
 

d% si d% a fo lairotcaf“(ftnirP \ ;)tcaf ,n ,”n  
 g ;)(hcte  
 }  
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3 .stnemetats eunitnoc & kaerb fo esu eht nialpxE . 4102 naJ( ) 

 : nloS era gnipool ot tnatropmi yrev era taht sdrowyek owT   ehT .eunitnoc dna kaerb
 eht tahw fo sseldrager pool gnidnuorrus yletaidemmi tsom eht tixe lliw dnammoc kaerb
 laiceps rednu pool a tixe ot tnaw ew fi lufesu si kaerB .era pool eht fo snoitidnoc

nikrow er'ew margorp eht yas s'tel ,elpmaxe roF .secnatsmucric owt a si no g -  nosrep
.emag srekcehc  

:siht ekil kool thgim margorp eht fo erutcurts cisab ehT  
)eurt( elihw  

{ 
;)1reyalp(nrut_ekat  
;)2reyalp(nrut_ekat  

} 
ehT .snrut ekat 2 reyalp dna 1 reyalp gnivah neewteb etanretla emag eht ekam lliw sihT  

t htiw melborp ylno nur lliw pool eht ;emag eht tixe ot yaw on s'ereht taht si cigol sih  
:daetsni siht ekil gnihtemos yrt s'teL !reverof  

)eurt(elihw  
{ 

)EURT == )(tiuq_ot_stnaw_enoemos || )(now_sah_enoemos( fi  
};kaerb{  

;)1reyalp(nrut_ekat  
stnaw_enoemos || )(now_sah_enoemos( fi )EURT == )(tiuq_ot_  

};kaerb{  
;)2reyalp(nrut_ekat  

} 
tnaw ew tahw sehsilpmocca edoc sihT -- rednu eunitnoc lliw emag eht fo pool yramirp eht  

lliw wolf eht )gnitixe ro gninniw( noitidnoc laiceps a rednu tub ,secnatsmucric lamron  
mos od lliw margorp ruo dna pots .esle gnihte  

pool a gnitucexe era uoy fI .spool fo wolf eht slortnoc taht drowyek rehtona si eunitnoC  
eht ni( flesti etadpu ,noitareti tnerruc sti pots lliw pool eht ,tnemetats eunitnoc a tih dna  

 .pot eht morf niaga etucexe ot nigeb dna )spool rof fo esac eunitnoc eht ,yllaitnessE  
tuohtiw pool eht htiw eunitnoc s'tel ,enod si pool eht fo noitareti siht" gniyas si tnemetats  

fo emag a gnitnemelpmi er'ew yas s'teL ".em retfa semoc edoc revetahw gnitucexe  
w lortnoc ot pool a esu ot tnaw ew ,evoba ekiL .yloponoM gnillortnoc tub ,si ti nrut esoh  

ruo fo erutcurts cisab ehT .srekcehc ni naht yloponoM ni detacilpmoc erom tib a si snrut  
:siht ekil gnihtemos kool neht thgim edoc  

)++reyalp ;ESLAF == now_sah_enoemos ;1 = reyalp( rof  
{ 

)sreyalp_fo_rebmun_latot > reyalp( fi  
};1 = reyalp{  

))reyalp(tpurknab_si( fi  
};eunitnoc{  

;)reyalp(nrut_ekat  
} 
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4. etaitnereffiD  od dna elihw neewteb -  .hcae rof elpmaxe na htiw ,stnemetats elihw
( 5102 YLUJ/NUJ ,3102 YLUJ/NUJ ) 

tnemetats elihW :nloS  
cexe yllaunitnoc ot tnemetats  elihw a esu  eW  noitidnoc a elihw stnemetats fo kcolb a etu

 sniamer eurt  eht fo xatnys lareneg eht si gniwollof ehT . elihw   .tnemetats  
( elihw noisserpxe { )  

    tnemetats  
} 
 

 eht ,tsriF elihw   setaulave tnemetats noisserpxe  eht fI .eulav naeloob a nruter tsum hcihw ,
isserpxe  snruter no eurt  eht , elihw   eht ni )s(tnemetats eht setucexe tnemetats elihw   .kcolb

 ehT elihw   eht litnu kcolb sti gnitucexe dna noisserpxe eht gnitset seunitnoc tnemetats
 snruter noisserpxe eslaf . 

airotcaf eht etaluclac ot  ,elpmaxe elpmis a redisnoc su teL rebmun a fo l  
 

>h.oidts< edulcni#  
)(niam  

{ 
  ;n,i ,tcaf tni  

rebmun a tupni“(ftnirp \ ;)”n  
;)n&,”d%“(fnacs  

;1=tcaf  
;1=i  

)n =< i ( elihw  
{ 
  ;i*tcaf=tcaf  
  ;i++  

} 
d% = lairotcaf “(ftnirp \ ;)tcaf ,”n  

} 
 

 od – tnemetats elihw  
:xatnyS  

{ od  
    )s(tnemetats  

( elihw } noisserpxe ;)  
 

 ,pool eht fo pot eht ta noisserpxe eht gnitaulave fo daetsnI od - elihw   eht setaulave
 a htiw detaicossa kcolb eht nihtiw stnemetats eht ,suhT .mottob eht ta noisserpxe od -

elihw  .ecno tsael ta detucexe era  

imes eht ot pu margorp C a fo enil hcaE  eht si nolocimes ehT .tnemetats a dellac si noloc
 dne dna gninnigeb eht ta deraeppa evah hcihw } dna { secarb ehT .rotanimret s'tnemetats
 stnemetats dna snoitaralced detaler rehtegot puorg ot desu eb osla nac tinu margorp ruo fo

 a otni tnemetats dnuopmoc  o  a r kcolb . 
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 eht fo esac eht nI elihw   eht erofeb pool tnemetats dnuopmoc   eht tuo deirrac si noitidnoc  
 si ti fi dna ,dekcehc si eurt   eht tnemetats   eht fI .emit erom eno deyebo si noitidnoc   snrut

 eb ot tuo eslaf  sevom margorp eht dna deyebo t'nsi gnipool eht ,  .tnemetats txen eht ot no
 snaem yllaer noitcurtsni eht taht ees nac ew oS  no peek eurt si rehto ro gnihtemos elihw

tnemetats eht gniod . 

 eht fo esac eht nI elihw od   tsael ta pool eht nihtiw edoc eht etucexe syawla lliw ti pool
 eht ecnis ,ecno noitidnoc  tnoc  ehT .pool eht fo mottob eht ta detset si pool eht gnillor  od

elihw   eht elihw noitcurtsni eht staeper pool noitidnoc   si eurt  eht fI . noitidnoc   ot tuo snrut
 eb eslaf .tnemetats txen eht ot no sevom margorp eht dna deyebo t'nsi gnipool eht ,  

na redisnoc su teL  od gnisu lairotcaf eht etaluclac ot elpmaxe - .pool elihw  
 

>h.oidts < edulcni#  
)(niam  

{ 
  ;i ,tcaf ,n tni  

 
regetni na tupni“(ftnirp \ ;)”n  

;)n&,”d%“(fnacs  
;1=tcaf  

;1=i  
od  

 { 
    ;i*tcaf=tcaf  
    ;i++  

  } 
    ;)n =< i ( elihw  

 
d% = lairotcaf“(ftnirp \ ;)tcaf ,”n  

} 
 
5  gnisu elgnairt dna elgnatcer ,elcric fo aera etaluclac ot margorp ’C‘ a etirW .

 = elcric fo aerA .tnemetats hctiws   ,htdaerb * htgnel = elgnatcer fo aerA
 fo aerA 3102 YLUJ/NUJ( .thgieh*esab*5.0 = elgnairt ) 

: nlos  >h.oidts<edulcni#  
dulcni# >h.oinoc<e  

>h.ssecorp<edulcni#  
 

)(niam diov  
{ 
  ;suidar,thgieh,esab,htdaerb,htgnel,hc  tni  
   ;)(rcsrlc  

  elcric fo aera.1 “(fftnirp \ elgnairt fo aerA .3 elgnatcer fo aerA .2 n \ ;)”n  
eciohc eht retne“(ftnirp \ ;)”n  

 ;)hc& ,”d%“(fnacs  
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  )hc(hctiws  
  { 
    ac suidar eht retne“(ftnirp :1 es \ )”n  

   ;)suidar& ,”d%“(fnacs  
= aera  

;)aera ,”d%“(ftnirp  
      ;kaerb  

    htdaerb & htgnel eht retne“(ftnirp :2 esac \ )”n  
   ;)htdaerb&,htgnel & ,”d%d%“(fnacs  
 

htdaerb * htgnel =aera  
;)aera ,”d%“(ftnirp  

      kaerb ; 
    thgieh & esab eht retne“(ftnirp :3 esac \ )”n  

   ;)thgieh&,suidar& ,”d%d%“(fnacs  
 

thgieh*esab*5.0=aera  
;)aera ,”d%“(ftnirp  

       ;kaerb  
     noitarepo lagellI "(ftnirp  :tluafed \ ;)"n  

          ;)0(tixe  
   } 
   ;)(hcteg  

} 
 

    agellI "(ftnirp  :tluafed  noitarepo l \ ;)"n  
          ;)0(tixe  
   } 
   ;)(hcteg  

} 
 
6 issop lla redisnoC .noitauqe citardauQ fo stoor dnif ot margorP C a etirW .  elb

(.stoor fo sesac  NUJ  / 4102 YLUJ  5102 NAJ, ) 
   >h.oidts< edulcni#  
   >h.htam< edulcni#  
     )(niam  

          { 
 ,b,a tni ;g,f,e,c  
 ;d taolf  
  mrof eht fo noitauqe fo stoor gnidniF"(ftnirp \ 0=c+x*b+2^x*a n \ ;)"n  
 c dna b ,a stnatsnoc fo seulav eht retnE"(ftnirp \ ;)"n  
 ;)c&,b&,a&,"d%d%d%"(fnacs  
 b*b = d - ;c*a*4  
 )0==d(fi  
 ((=e - b*)1 - ;2/))d(trqs   
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 r emas 2 sah noitauqe neviG"(ftnirp f% stoo \ ;)e,"n  
 )0<d(fi esle  
  stoor laeR on sah noitauqe nevig ehT"(ftnirp \ ;)"n  
 )0>d(fi esle  
 b(=f - 2/))d(trqs  
 ((=g - b*)1 - 2/))d(trqs  
 f% dna f% era stooR"(ftnirp \ ;)g,f,"n  
 )0<y&&0<x(fi esle  
  tnardauQ drihT eht ni seil tniop sihT"(ftnirp \ ;)"n  
} 
 
7  . reffiD erp etaitne - tsop dna tset -  elbatius htiw rewsna ruoy etartsullI .spool tset

lpmaxe YLUJ/NUJ(.e  3102 , 5102 NAJ ) 
:nloS  

neewteB ecnereffiD ehT   tseterp A .tset tsoP dnA tseterP pool   si kcolb eht hcihw ni eno si
 deificeps eht litnu detaeper eb ot noitidnoc  l on si  detset si noitidnoc eht dna ,eurt regno

 detaeper eb ot si kcolb eht hcihw ni eno si pool tset tsop A .detucexe si kcolb eht erofeb
 si kcolb eht retfa detset si noitidnoc eht dna ,eurt regnol on si noitidnoc deificeps eht litnu

.detucexe  
 

dellortnoc yrtnE)1  erp ro - .rof ,elihW .g.e pool tset  
 

tsop fo dellortnoc tixE )2 - .elihw ,oD .g.e pool tset  
 
8 ys dna noitarlced nialpxE. pool elihw od dna elihw fo xatn ( /CED  NAJ

4102 5102YLUJ/NUJ, ). 
 

:nloS   eht fo xatnys lareneg eht si gniwollof ehT elihw   tnemetats elihw od dna  .  
 

( elihw noisserpxe  )  
{ 

    tnemetats  
} 
 

 od – tnemetats elihw  
:xatnyS  

{ od  
    )s(tnemetats  

( elihw } noisserpxe ;)  
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.9  tnemetats hctiws nialpxE . )4102 YLUJ( . 

 
:nloS  S hctiw  tnemetats  

  C ehT hctiws  eno ta smeti fo noitceles a fo eciohc elpitlum swolla   erehw lanoitidnoc a fo level
 elpitlum gnitirw fo yaw retaen raf a si ti fi   :stnemetats  

 
  ( hctiws noisserpxe )                    { 

      esac meti 1: 
       tnemetats 1; 
       ;kaerb  
      esac meti 2: 
       tnemetats 2; 
       ;kaerb  

                   sac  e meti n: 
       tnemetats n; 
       ;kaerb  
     :tluafed  
       tnemetats ; 
       ;kaerb  
    }  .  
 
 

III ELUDOM  
 

ARRA Y ,S  STRINGS DNA  F TCNU IONS 
 
1. C a etirW - .srebmun owt fo DCG dnif ot margorp  4102 NAJ( ) 

:nloS  
edulcni# >h.oidts<  

 
tni  {)(niam  

 
    tni  ;i,m,y,x  

 
    (ftnirp " :rebmun owt yna tresnI" ;)  

 
    (fnacs "d%d%" ;)y&,x&,  
    fi )y>x(  

         ;y=m  
    esle  

         ;x=m  
 
    rof i;1=>i;m=i( -- {)  

         fi {)0==i%y&&0==i%x(  
             (ftnirp "\ "d% : si rebmun owt fo FCHn ; )i,  
             kaerb ; 
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         } 
    } 
    nruter  ;0  

} 
 
2. moc ot ,noitcnuf gnisu margorp ’C‘ a etirW  .srebmun N fo mus eht etup

3102 YLUJ/NUJ( ) 
>h.oidts<edulcni#  

>h.oinoc< edulcni#  
 

)(niam dioV  
  { 

 ;ser,n,mtni  
;)b tni ,a tni(DDA tni  

;)(rcsrlc  
 srebmun owt retnE“(ftnirp \ ;)”n  
 ,”d%,d%“(fnacs ;)n&,m&  
 ;)n,m(DDA=seR  
 ;)ser,”d%=srebmun owt fo mus“(ftnirp  
 ;)(hcteg  
  } 

 ;)b tni ,a tni(DDA tni  
 { 
  ;mus tni  
  ;b+a=mus  
  ;)mus(nruter  
 } 

 
 

 noitcnuf a ot sretemarap gnissap fo syaw tnereffid eht ebircseD .3 (  ,3102 YLUJ/NUJ
NAJ  4102 )5102 NAJ ,  

 
aP :nloS :snoitcnuf ot sretemarap gniss - 

 si sihT .syaw eerht gniwollof eht yb deveihca eb nac snoitcnuf neewteb refsnart ataD
.gnissap retemarap eman eht yb dellac osla  

 
.1  eulav yb ssap  
.2  ecnerefer yb ssap  
.3  sserdda yb ssap  

eulav yb ssaP  fo seulav eht ,eulav yb ssap ni :  lamrof otni deipoc era sretemarap lautca
 lautca fo ypoc eht ylno niatnoc sretemarap lamrof ereH .noitcnuf dellac eht ni sretemarap

.sretemarap  
 tsniaga meht stcetorp ti dna deniatnoc fles erom noitcnuf eht sekam eulav yb ssaP

ahc si tahT .segnahc latnedicca  yna ekam ton seod ,sretemarap lamrof eht ni segn
.sretemarap lautca ni egnahc  
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ecnerefer yb ssaP :-  etanretla sa detaert era sretemarap lamrof eht ecnerefer yb ssap ni
 seman  

nahc a  si ereht ylpmi sretemarap lamrof ni egnahc yna ,os . sretemarap lautca rof  ni eg
lautca  

.egaugnal ++C ni detroppus si ti .C ni detroppus ton si euqinhcet siht tuB .retemarap  
 

sserdda yb ssaP :-  lautca fo sesserdda eht ,dellac si noitcnuf a nehw sserdda yb ssap ni  
itcnuf dellac si sretemarap lamrof esac siht nI .tnes era sretemarap  deralced eb dluohs no

sa  
 fo seulav eht sesserdda eseht gnisU .sretemarap lautca sa epyt atad emas eht htiw retniop

 eht  
.yltceridni degnahc eb nac sretemarap lautca  

 
 
 
4  elpmaxe na gnisu on laer & regetni fo tuptuo nialpxE ?tuptuo dettamrof si tahW.

ae rof hc  3102 YLUJ/NUJ( ) 
 

sreificeps tamrof gnisu tuptuo dna tupni dettamroF : 
 noisrevnoc emas eht fo ynam gnidivorp ,ftnirp fo golana tupni eht si fnacs noitcnuf ehT

.noitcerid etisoppo eht ni seitilicaf  
       )..… ,tamrof* rahc( fnacs tni  

retcarahc sdaer fnacs  eht ot gnidrocca meht sterpretni ,tupni dradnats eht morf s
 ehT .stnemugra gniniamer eht hguorht stluser eht serots dna ,tamrof ni noitacificeps
 a eb tsum hcihw fo hcae  ,stnemugra rehto eht ;woleb debircsed si tnemugra tamrof

c eht erehw etacidni ,retniop  .derots eb ot tupni detrevnoc gnidnopserro  
 

 eht hctam ot sliaf tupni emos nehw ro ,gnirts tamrof sti stsuahxe ti nehw spots fnacs
 dna dehctam yllufsseccus fo rebmun eht eulav sti sa snruter tI .noitacificeps lortnoc

 desu eb nac sihT .smeti tupni dengissa  fo dne nO . dnuof erew smeti ynam woh ediced ot
 tupni txen eht taht snaem hcihw ,0 morf tnereffid si siht taht eton ;denruter si FOE elif
 fnacs ot llac txen ehT .gnirts tamrof eht ni noitacificeps tsrif eht hctam ton seod retcarahc

idemmi gnihcraes semuser .detrevnoc ydaerla retcarahc tsal eht retfa yleta  
 

 eht yllamroN .dleif tupni txen eht fo noisrevnoc eht stcerid noitacificeps noisrevnoc A
 tnemngissa fI .tnemugra gnidnopserroc eht yb ot detniop elbairav eht ni decalp si tluser

 yb detacidni si noisserppus  on ;deppiks si dleif tupni eht ,revewoh ,retcarahc * eht
non fo gnirts a sa denifed si dleif tupni nA .edam si tnemngissa -  ti ;sretcarahc ecaps etihw

 si ,deificeps fi ,htdiw dleif eht litnu ro retcarahc ecaps etihw txen eht ot rehtie sdnetxe
sihT .detsuahxe   ecnis ,tupni sti dnif ot seiradnuob enil ssorca daer lliw fnacs taht seilpmi

 egairrac ,enil wen ,bat ,knalb era sretcarahc ecaps etihW( .ecaps etihw era senil wen
.)deef mrof dna bat lacitrev ,nruter  

si xatnys lareneg ehT  
  1gra ,tamrof* rahc( ftnirp  tni )..…………2gra,  

 fo lortnoc rednu tuptuo dradnats eht no stnemugra sti stnirp dna ,stamrof ,strevnoc ftnirp
.detnirp sretcarahc fo rebmun eht snruter tI .tamrof eht  
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 ot deipoc era hcihw ,sretcarahc yranidro :stcejbo fo sepyt owt sniatnoc gnirts tamrof ehT
o eht  dna noisrevnoc sesuac hcihw fo hcae snoitacificeps noisrevnoc dna ,maerts tuptu

 snigeb noitacificeps noisrevnoc hcaE .ftnirp ot tnemugra evisseccus txen eht fo gnitnirp
 noisrevnoc eht dna % eht neewteB .retcarahc noisrevnoc a htiw sdne dna % a htiw

tcarahc :redro ni eb yam ereht re  
 .tnemugra detrevnoc eht fo tnemtsujda tfel seificeps hcihw ,ngis sunim A  
  lliw tnemugra detrevnoc ehT .htdiw dleif muminim eht seificeps taht rebmun A

 eht no deddap eb lliw ti yrassecen fI .ediw siht tsael ta dleif a ni detnirp eb  ro tfel
.htdiw dleif eht pu ekam ot ,thgir  

 .noisicerp eht morf htdiw dleif eht setarapes hcihw ,doirep A  
  ot sretcarahc fo rebmun mumixam eht seificeps taht ,noisicerp eht ,rebmun A

a fo tniop lamiced eht retfa stigid fo rebmun eht ro ,gnirts a morf detnirp   gnitaolf
.regetni na rof stigid fo rebmun muminim eht ro ,eulav tniop  

 .gnol a sa fi l ro ,trohs a sa detnirp eb ot si regetni eht fi h nA  
 

snoitcnuf fnacS :- 
 a yleman ,tupni dradnats eht morf selbairav otni atad daer ot desu si )(fnacs noitcnuf ehT

raobyek  .d :si tamrof lareneg ehT  
 tamrof(fnacS - )nrav………,2rav,1rav ,gnirts  

tamrof erehW -  ni derots eb ot atad fo epyt eht no retupmoc eht ot noitamrofni sevig gnirts
dnuof eb lliw yeht snmuloc ynam woh ni dna  nrav……2rav,1rav selbairav fo tsil eht  

t ni ,elpmaxe roF :tnemetats eh  
  ;)q& ,p& ,”d% d%“(fnacS  

 eb ot atad ehT  .q dna p era derots eb ot desu era srebmun hcihw ni selbairav owt ehT
 eht no depyt atad eht ni knalb a yb detarapes eb lliw sregetni ehT .sregetni era derots

.draobyek  
:eb suht yam enil atad elpmas A  

  87581  654  
 .eman elbairav hcae edecerp dluohs )dnasrepma dellac(& lobmys eht taht evresbO
 ot dnuof eb dluohs eman elbairav eht fo sserdda eht taht etacidni ot desu si dnasrepmA

m tnemetats fnacs a yb  daer si atad hcihw ni rennam ehT .ti ni eulav a erots  eb ya
 worra ehT .eulav atad tsrif eht evoba denoitisop eb ot worra na gnimussa yb denialpxe
 noitacol egarots eht ni eulav atad tsrif eht gnirots retfa eulav atad txen eht ot sevom

uohs retcarahc knalb A .tsil eht ni eman elbairav tsrif eht ot gnidnopserroc  eht etarapes dl
.seulav atad  

 derots era srebmun llit senil erom ro eno morf daer eb ot atad sesuac tnemetats fnacs ehT
.seman elbairav deificeps eht lla ni  

tamrof eht ni sretcarahc neewteb tfel eb dluohs sknalb on taht oN -  & lobmys ehT  .gnirts
esse yrev si .eman elbairav eht fo tnorf ni laitn  

  epyt fo era fnacs ni selbairav fo tsil eht ni selbairav fo tsil eht ni selbairav eht fo emos fI
tamrof eht ni desu eb dluohs snoitpircsed etairporppa ,taolf era emos dna regetni - .gnirts  

:elpmaxe roF  
  ,”e% f% d%“(fnacS  ;)c& ,b& , a&  

 nettirw taolf a  dna b ni derots eb ot si taolf ,a ni derots eb ot si regetni na taht seificepS
:si enil atad elpmas etairporppa ehT .c ni tamrof tnenopxe eht gnisu  

  e548.6 267.894 584 - 21  
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noitcnuf ftnirP : 
nuf tuptuo na fo tamrof lareneg ehT  si noitc  

 tamrof(ftnirP - ;)nrav..…2rav,1rav ,gnirts  
tamrof erehW -  fo epyt tahw ,tcepxe ot selbairav ynam woh no noitamrofni sevig  gnirts

 yna  dna meht gniyalpsid rof devreser eb ot era snmuloc ynam woh , era yeht stnemugra
T .detnirp eb ot gnirts retcarahc  a ylno yalpsid semitemos yam noitcnuf )(ftnirp eh

:elpmaxe gniwollof eht nI .eulav elbairav yna ton dna egassem  
  ;)”woleb nevig era srewsnA“(ftnirp  

tamrof ehT - :si gnirts  
  woleb nevig era srewsnA  

rof eht syalpsid tnemetats sihT .selbairav on era ereht dnA tam -  yalpsid oediv eht no gnirts
 eht ta  niamer lliw neercs eht no rosruc eht ,gniyalpsid retfA .selbairav on era ereht dna
 txen eht no noitamrofni yalpsid ot enil txen eht ot evom ot ti tnaw ew fI .gnirts eht fo dne

tamrof eht evah dluohs ew ,enil - :gnirts  
  woleb nevig era srewsnA“(ftnirp \ ;)”n  

 lobmys eht gnirts siht nI \  fo gninnigeb eht ot ecnavda dluohs rosruc eht taht sdnammoc n
.enil txen eht  

 
:elpmaxe gniwollof eht nI  

   d% =x rewsnA“(ftnirp \ ;)x ,”n  
tI .deyalpsid eb ot si x fo eulav eht woh seificeps d%   sa deyalpsid eb ot si x eht setacidni

 noitacificeps noisrevnoc eht dellac si d% .tni epyt fo si x elbairav ehT .regetni lamiced a
:elpmaxe eht nI . retcarahc noisrevnoc eht d dna  

  f%=b ,d% =a“(ftnirp \ ;)b ,a ,”n  
epyt fo b dna tni epyt fo si a elbairav eht   eb ot si a taht seificeps d % .elbuod ro taolf

 nI .noitcarf lamiced a sa deyalpsid eb ot si b ,taht seificeps f% dna regetni na sa deyalpsid
.sretcarahc noisrevnoc era f ,d dna snoitacificeps noisrevnoc era f% dna d% elpmaxe siht  

 
5. irp ot margorp C etirW rebmun  iccanobif n  tn .noitcnuf gnisu s ( NAJ  3102  NAJ ,

4102 ) 
>h.oidts<edulcni#:nloS  

>h.oinoc<edulcni#  
 

)n tni(bif tni  
{ 

=a tni - ;i,0=c,1=b,1  
)++i;n<i;0=i(rof  

{ 
;b+a=c  

;)c," d%"(ftnirp  
;b=a  
;c=b  

} 
;)0(nruter  

} 
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)(niam diov  

{ 
;n tni  

;)(rcsrlc  
a retne"(ftnirp rebmun yn \ ;)"n  

;)n&,"d%"(fnacs  
;)n(bif  

;)(hcteg  
} 
 
6 ( .sserdda yb llac dna eulav yb llac etaitnereffiD . YLUJ/NUJ  3102 5102 NAJ , ) 

 :nloS eulaV yB llaC  
 deerf si yromem ehT.enituorbus  eht nihtiw esu rof noitcaol yromem wen a setaerC.1

   ti ecno  
    ht sevael  eht edistuo  detceffa ton era elbairav eht ot edam segnahC.enituorbus e

.enituorbus  
 tnereffid ni detaerc eb lliw sretemarap lamrof dna lautca eht htob ,eulav yb llac nI.2

   yromem  
    .snoitacol  

 
:ecnerefeR yB llaC  

itacol yromem eht ot retniop a sessaP .1  eht nihtiw elbairav  eht ot edam segnahC.no
.enituorbus eht  edistuo elbairav eht stceffa enituorbus  

.noitacol emas  eht ta detaerc eb lliw htob ecnerefer yb dellac era yehT .2   
 

7 02 luj/nuj(elpmaxe elpmas htiw selbairav labolg dna lacol fo epocs nialpxE . )31  
 

nloS  denifed selbairaV: edistuo   dellac ]…[ era noitcnuf a selbairav labolg . 
  denifed selbairav nihtiw   era noitcnuf a selbairav lacol  mret  lacinhcet a tsuj si "epocS" .

ht ,woleb erutcip eht nI  .elbairav a ot ssecca evah taht edoc ruoy fo strap eht rof  e epocs  
 eht fo lacol   eulb dethgilhgih si elbairav –  .denifed saw rav taht erehw noitcnuf eht s'ti

 edoc ynA edisni   edoc ynA .elbairav siht )egnahc dna daer( ssecca nac noitcnuf taht
edistuo   s'tI .t'nac ti lacol .edistuo morf elbisivni s'ti os ,  
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8  xatnys noitaralced htiw ebircseD ?noitcnuf a si tahW . NAJ/CED(  4102 5102 NAJ,  ) 

:nloS   margorp C yrevE .ksat a mrofrep rehtegot taht stnemetats fo puorg a si noitcnuf A
tcnuf eno tsael ta sah  si hcihw ,noi )(niam  enifed nac smargorp laivirt tsom eht lla dna ,
.snoitcnuf lanoitidda  

 edoc ruoy pu edivid uoy woH .snoitcnuf etarapes otni edoc ruoy pu edivid nac uoY
 hcae os si yllausu noisivid eht yllacigol tub ,uoy ot pu si snoitcnuf tnereffid gnoma

.ksat cificeps a smrofrep noitcnuf  

 noitcnuf A noitaralced   dna ,epyt nruter ,eman s'noitcnuf a tuoba relipmoc eht sllet
 noitcnuf A .sretemarap noitinifed  .noitcnuf eht fo ydob lautca eht sedivorp  

:snoitaralceD noitcnuF  

 noitcnuf A noitaralced  ipmoc eht sllet  eht llac ot woh dna eman noitcnuf a tuoba rel
.yletarapes denifed eb nac noitcnuf eht fo ydob lautca ehT .noitcnuf  

:strap gniwollof eht sah noitaralced noitcnuf A  

eman_noitcnuf epyt_nruter (  tsil retemarap ;)  

 gniwollof ,)(xam noitcnuf denifed evoba eht roF :noitaralced noitcnuf eht si  

tni  xam ( tni  1mun , tni  2mun ;)  

 os ,deriuqer si epyt rieht ylno noitaralced noitcnuf ni tnatropmi ton era seman retemaraP
:noitaralced dilav osla si gniwollof  

tni  xam ( tni , tni ;)  

f a enifed uoy nehw deriuqer si noitaralced noitcnuF  uoy dna elif ecruos eno ni noitcnu
 fo pot eht ta noitcnuf eht eralced dluohs uoy esac hcus nI .elif rehtona ni noitcnuf taht llac

.noitcnuf eht gnillac elif eht  

9  . .sngised noitcnuf tnereffid nialpxE  )4102 YLUJ( . 
 

:nloS  
:snoitcnuf fo yrogetaC  

   noitcnuf A  dna ton ro tneserp era stnemugra rehtehw no dneped yam
 gniwollof eht fo eno ot gnoleb yam tI .ton ro denruter si eulav a rehtehw

.seirogetac  
 
 :1  yrogetaC   .seulav nruter on dna stnemugra on htiw snoitcnuF  
 :2  yrogetaC   er on dna stnemugra htiw snoitcnuF .seulav nrut  
 :3  yrogetaC   .seulav nruter dna stnemugra  htiw  snoitcnuF  
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01 1 fo noitazilaitini & noitaralced eht nialpxE . - elpmaxe na htiw ,yarra lanoisnemid  

( 5102NAJ ,4102 YLUJ ,3102 YLUJ/NUJ ) 
 

 : nloS :syarra  fo noitazilaitini dna noitaralceD  
 arra ehT  fo mrof lareneg ehT .margorp eht ni desu era yeht erofeb deralced era sy

si noitaralced yarra  
 ;]ezis[eman_elbairav epyT  

 sa hcus ,yarra eht ni deniatnoc eb lliw taht tnemele fo epyt eht seificeps epyt ehT
umixam eht setacidni ezis eht dna rahc ro,taolf,tni  eb nac taht stnemele fo rebmun m

.yarra eht edisni derots  
:elpmaxE  

 ]04[thgiew taolF  
 era 93 ot 0 stpircsbus ynA .stnemele laer 04 gniniatnoc yarra na eb ot thgiew eht seralceD

.dilav  
,ylralimiS  

 ;]11[1puorg tnI  
a niatnoc ot yarra na sa 1puorg eht  serlaceD  .stnatsnoc regetni 01 fo mumixam  

 a ni ezis ehT .sretcarahc fo syarra sa ylpmis sgnirts retcarahc staert egaugnal C ehT
.dloh nac gnirts eht taht sretcarahc fo rebmun mumixam eht stneserper gnirts retcarahc  

:elpmaxe roF  
 ;]01[txet rahC  

 eht daer ew esoppuS .txet elbairav gnirts eht otni tnatsnoc gnirts gniwollof  
  ”UOY ERA WOH“  

 eht ni derots si dna txet yarra eht fo tnemele na sa detaert si gnirts eht fo retcarahc hcaE
.swollof sa yromem  

 
        ’H‘  
        ’O‘  

       ’W‘  
 

        ’A‘  
        ’R‘  

        ’E‘  
 

          ’Y‘  
          ’O‘  
        ’U‘  
         ‘\ ’o  

 
 llun lanoitidda na htiw ti setanimret ti ,gnirts retcarahc a sees relipmoc eht nehW

‘ retcarahc llun eht sdloh ]11[txet tnemele eht ,suhT .retcarahc \  nehW .dne eht ta ’o
tcarahc gniralced  llun eht rof ecaps tnemele artxe eno wolla syawla tsum ew ,syarra re

.rotanimret  
:syarra fo noitazilaitinI  

 :si syarra fo noitazilaitini fo mrof lareneg ehT  
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  ataD yarra epyt - ;}seulav fo tsil {=]ezis[eman  
.sammoc yb detarapes era tsil eht ni seulav ehT  

 roF swohs woleb tnemetats eht ,elpmaxe  
  ;}2,2,2{=]3[mun tni  

 fI .tnemele hcae ot owt ngissa lliw dna 3 ezis fo yarra na sa mun elbairav eht eralced lliW
 stnemele ynam taht ylno neht ,stnemele fo rebmun eht naht ssel si seulav fo rebmun eht

.dezilaitini eb lliw  .yllacitamotua orez ot tes eb lliw stnemele gniniamer ehT  
:elpmaxe roF  

  ;}5.4,3.2,1.0{=]5[1mun taolf  
 stnemele owt gniniamer eht dna 5.4 dna 3.2,1.0 ot stnemele eerht tsrif eht ezilaitini lliW

seralced noitaralced epyt erofeb desu citats drow ehT .orez ot   citats a sa elbairav eht
.elbairav  

 hguone setacolla relipmoc eht ,sesac hcus nI .dettimo eb yam ezis eht sesac emos nI
tnemetats eht ,elpmaxe roF .stnemele dezilaitini lla rof ecaps  

  ;}2,2,2,2{ =] [tnuoc tni  
ruof niatnoc ot yarra retnuoc eht eralced lliW  .2 seulav laitini htiw stnemele  

tnemetats eht ,suhT .rennam ralimis a ni dezilaitini eb yam syarra retcarahC  
 }N’,A’,W‘ S‘ {=] [eman rahc  

”NAWS“ gnirts eht htiw dezilaitini ,sretcarahc ruof fo yarra na eb ot eman eht seralceD  
i ni skcab ward niatrec erehT .syarra fo noitazilaitin  

.1  .stnemele detceles ylno ezilaitini ot yaw tneinevnoc on si erehT  

.2  .stnemele yarra fo rebmun egral a gnizilaitini rof dohtem tuctrohs on si erehT  
 

 
11  C fo noitaralced & noitazilaitini eht nialpxE . – .sgnirts ( 4102 YLUJ 5102 NAJ, ) 

nloS  : :selbairav gnirts gnizilaitini dna gniralceD  
   si elbairav gnirts fo mrof lareneg ehT  
   ;]ezis[eman_gnirts rahc  

gnirts eht ni sretcarahc fo rebmun eht senimreted ezis ehT - .eman  
 :era selpmaxe emoS  

;]01[etats  rahc  
  ;]03[eman  rahc  

sa relipmoc eht nehW  yllacitamotua ti ,yarra retcarahc a ot gnirts retcarahc a sngis
‘(retcarahc llun a seilppus \ .gnirts eht fo dne eht ta )’0  

 ot yarra retcarahc a stimrep C .deralced era yeht nehw dezilaitini eb yam syarra retcarahC
t gniwollof eht fo rehtie ni dezilaitini eb :smrof ow  

  ;”AKATANRAK ”=]01[etats rahc citatS  
  ’A’,’K’,’A’,’T’,’A’,’N’,’R’,’A’,’K‘{=]01[etats rahc citatS \ ;}’O  
          

 AKATANRAK  gnirts eht  taht si  gnol stnemele 01 eb ot dah etats taht nosaer ehT
orp si ecaps tnemele eno dna sretcarahc 01 sniatnoc .rotanimret llun eht rof dediv  

  fo rebmun eht gniyficeps tuohtiw yarra retcarahc a ezilaitini ot su stimrep osla C
.stnemele  

  tnemetats eht ,elpmaxe  roF  
 ] [gnirts rahc citats   ’O‘ ,’L‘ ,’L‘ ,’E‘ ,’H‘{= \ ;}O  
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21 C a etirW . - ezis fo yarra na daer ot margorp  stnemele yarra eht tnirp & ’N‘ (  naJ
4102 ) 

 
 :nloS  

.syarra lanoisnemid owt etirw dna daer ot margorP  
  

>h.oidts<edulcni#  
)(niam  

{ 
 ;]01[]01[a tni  

             ;loc,wor j ,i tni  
 “(ftnirp \ ;)”:xirtam a fo  nmuloc dna wor tupnI n  
 ;)loc&,wor&  ,”d% d%“(fnacs  
 )++i;wor<i ;0=i(rof  
     )++j;loc<j;0=j(rof  
   ;)]j[]i[a& ,”d%“(fnacs  

)++i;wor<i;0=i(rof  
{ 
 )++j;loc<j;0=j(rof  
 ;)]j[]i[a ,”d5%“(ftnirp  

“(ftnirp \ ;)”n  
} 
 
 
31 .  lanoisnemid owt eht fo mus eht tnirp ot margorp a etirW? yarra na si tahW

ser eht erots dna yarra .yarra rehtona otni tlu ( 4102 NAJ 5102 NAJ, ) 
 ,elpmaxe roF .yarra na dellac si eman nommoc a erahs taht smeti atad detaler fo puorg A
 fo puorg a yb deniatbo skram fo tes a tneserper ot skram eman yarra na enifed nac ew

.stneduts  
>h.oidts<edulcni#  

oc<edulcni# >h.oin  
 

)(niam diov  
{ 
   ;]5[]5[a,r,c,n,m,j,i tni  
   ;)n tni,m tni,]5[]5[a tni(musr diov  
   ;)n tni,m tni,]5[]5[a tni(musc diov  
   ;)n tni,m tni,]5[]5[a tni(must diov  

 
   ;)(rcsrlc  
    :n dna m ezis xirtam retnE"(ftnirp \ ;)"n  
   ;)n&,m&,"d%d%"(fnacs  
    
   :A xirtaM eht retnE"(ftnirp \ ;)"n  
   )++i;m<i;0=i(rof  

      )++j;n<j;0=j(rof  
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          ;)]j[]i[a& ,”d%“(fnacs  
      “(ftnirp \ ;)“ :wor deificeps retnE n  

   ;)r&,”d%“(fnacs  
   r,a(musr - /* orez htiw strats tpircsbus wor ecnis */;)n,1  
   “(ftnirp \ ficeps retnE n ;)”:nmuloc dei  
   ;)c&,”d%“(fnacs  
   c,m,a(musc - /*orez htiw trats tpircsbus nmuloc ecnis*/;)1  
   ;)n,m,a(must  
   ;)(hcteg  

} 
 

/* wor deificeps eht fo stnemele eht fo mus dnif ot noitcnuF */  
)n tni,r tni,]5[]5[a tni(musr diov  

{ 
   ;0=mus,j tni  
   j ;0=j (rof ) ++j ;n<  

   ;]j[]r[a + mus = mus  
   d% si wor deificeps wor eht fo stnemele eht fo muS "(ftnirp \ ;)mus ,"n  

} 
 

/* nmuloc deificeps eht fo stnemele eht fo mus dnif ot noitcnuF */  
)c tni,m tni,]5[]5[a tni(musc diov  

{ 
   ;0=mus,i tni  
   ) ++i ;m<i ;0=i (rof  

   ;]c[]i[a + mus = mus  
   d% si nmuloc deificeps nmuloc eht fo stnemele eht fo muS "(ftnirp \ ;)mus ,"n  

} 
 
 
41  .  .ton ro emordnilap si gnirts skcehc dna gnirts a stpecca taht margorp a etirW

( 4102 NAJ 5102 YLUJ/NUJ , ) 
 

 : nloS >h.oidts< edulcni#  
gnirts< edulcni# >h.  

  
)(niam  

{ 
   ;]001[b ,]001[a rahc  

  
   emordnilap a si ti fi kcehc ot gnirts eht retnE"(ftnirp \ ;)"n  
   ;)a(steg  

  
   ;)a,b(ypcrts  
   ;)b(verrts  
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   ) 0 == )b,a(pmcrts (fi  
      .emordnilap a si gnirts deretnE"(ftnirp \ ;)"n  

   esle  
      eretnE"(ftnirp .emordnilap a ton si gnirts d \ ;)"n  

  
   ;0 nruter  

} 
 
51   .hcraes yranib gnisu tsil detrosnu morf tnemele na hcraes ot margorp C a etirW .

)3102 luj/nuj(  
:nloS  >h.oidts<edulcni#  

 >h.oinoc<edulcni#  
)(niam  

{ 
   ]001[yarra ,hcraes ,n ,elddim ,tsal ,tsrif ,c tni ; 
   C ni margorP hcraeS yraniB"(ftnirp \n\n ;)"  
   seulav fo rebmun eht retnE"(ftnirp \n ;)"  
   ;)n&,"d%"(fnacs  

  
   redro gnidnecsa ni seulav eht retnE"(ftnirp \n ;)n ,"  

  
   ) ++c ; n < c ; 0 = c ( rof  

      ;)]c[yarra&,"d%"(fnacs  
  
   craes eht retnE"(ftnirp eulav h \n ;)"  
   ;)hcraes&,"d%"(fnacs  

  
   ;0 = tsrif  
    n = tsal - ;1  
   ;2/)tsal+tsrif( = elddim  

  
   ) tsal =< tsrif (elihw  
   { 

      ) hcraes < ]elddim[yarra ( fi  
             ;1 + elddim = tsrif  

       ) hcraes == ]elddim[yarra ( fi esle  
      { 

         .d% noitacol ta dnuof d%"(ftnirp \n ;)1+elddim ,hcraes ,"  
         ;kaerb  

      } 
      esle  

          elddim = tsal - ;1  
  

      ;2/)tsal + tsrif( = elddim  
   } 
   ) tsal > tsrif ( fi  
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      .tsil eht ni tneserp ton si d% !dnuof toN"(ftnirp \n ;)hcraes ,"  
  
   ;)(hcteg  
      ;0 nruter  

} 
 

V1 ELUDOM  
 

 DNA SERUTCURTS  TNEMEGANAM ELIF  
 

.1  nialpxE ?epyt atad erutcurts si tahW   ( 5102 NAJ 5102 YLUJ/NUJ, ) 
 

nloS  :  emas eht fo smeti atad lareves dloh nac taht selbairav fo epyt enifed ot uoy wolla syarra C
 dnik  

 tub rutcurts e  ot uoy swolla hcihw ,gnimmargorp C ni elbaliava epyt atad denifed resu rehtona si
.sdnik tnereffid fo smeti atad enibmoc  

 a ni skoob ruoy fo kcart peek ot tnaw uoy esoppus ,drocer a tneserper ot desu era serutcurtS
lof eht kcart ot tnaw thgim uoY .yrarbil :koob hcae tuoba setubirtta gniwol  

 eltiT  

 rohtuA  

 tcejbuS  

 DI kooB  

erutcurtS a gninifeD  
eht esu tsum uoy ,erutcurts a enifed oT  tcurts   atad wen a senifed tnemetats tcurts ehT .tnemetats

curts eht fo tamrof ehT .margorp ruoy rof rebmem eno naht erom htiw ,epyt :siht si tnemetats t  
tcurts  [ gat erutcurts ] 

{ 
   noitinifed rebmem ; 
   noitinifed rebmem ; 
   ...  
   noitinifed rebmem ; 

} [  eno ro  selbairav erutcurts erom ;]    
ehT  gat erutcurts   sa hcus ,noitinifed elbairav lamron a si noitinifed rebmem hcae dna lanoitpo si

 ,noitinifed s'erutcurts eht fo dne eht tA .noitinifed elbairav dilav rehto yna ro ;f taolf ro ;i tni
 ereH .lanoitpo si ti tub selbairav erutcurts erom ro eno yficeps nac uoy ,nolocimes lanif eht erofeb

:erutcurts kooB eht eralced dluow uoy yaw eht si  
curts t skooB  

{ 
   rahc   eltit [ 05 ;]  
   rahc   rohtua [ 05 ;]  
   rahc   tcejbus [ 001 ;]  
   tni    di_koob ; 
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} koob ;    

 
.2   na htiw noitcnuf a ot retemarap a sa dessap si elbairav erutcurts a woh wohS

elpmaxe  )5102 NAJ(  
 :nloS m owt yb snoitcnuf ot dessap eb nac erutcurts ,C nI :sdohte  

 .1 gnissaP  yb  eulav  gnissap(  lautca  eulav  sa  )tnemugra  
 .2 gnissaP  yb  ecnerefer  gnissap(  sserdda  fo  na  )tnemugra  

:eulav yb erutcurts gnissaP  

 erutcurts fI .elbairav lamron sa tnemugra na sa noitcnuf eht ot dessap eb nac elbairav erutcurts A
 ni tcelfer ton seod noitinifed noitcnuf ni elbairav erutcurts ni edam egnahc ,eulav yb dessap si

rutcurts lanigiro .noitcnuf gnillac ni elbairav e  

 dna eman eht resu ksA .llor dna eman gniniatnoc ,tneduts erutcurts a etaerc ot margorp C a etirW
 ni noitamrofni eht yalpsid dna noitcnuf a ot erutcurts siht ssaP .noitcnuf niam ni tneduts a fo llor

.noitcnuf taht  

edulcni#  s< >h.oidt  
tcurts  {tneduts  

    rahc  [eman 05 ;]  
    tni  ;llor  

;}  
diov  yalpsiD ( tcurts  tneduts  ;)uts  

*/  noitcnuf  epytotorp  dluohs  eb  woleb  ot  eht  erutcurts  noitaralced  esiwrehto  relipmoc  swohs  rorre  /*  
tni  {)(niam  
    tcurts  tneduts  ;1s  
    (ftnirp retnE"  'tneduts s :eman  " ;)  
    (fnacs "s%" ;)eman.1s&,  
    (ftnirp retnE"  llor  ":rebmun ;)  
    (fnacs "d%" ;)llor.1s&,  
    yalpsiD ;)1s(    //  gnissap  erutcurts  elbairav  1s  sa  tnemugra  
    nruter  0; 

} 
diov  yalpsiD ( tcurts  tneduts  {)uts  

  (ftnirp tuptuO" \ :emaNn  "s% ;)eman.uts,  
  irp (ftn "\ :lloRn  "d% ;)llor.uts,  

} 
tuptuO  

almA niveK :eman s'tneduts retnE  

941 :rebmun llor retnE  

tuptuO  

almA niveK :emaN  

941 :lloR  
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:ecnerefer yb erutcurts gnissaP  

I .ecnerefer yb ti gnissap elihw noitcnuf ot dessap si elbairav erutcurts fo noitacol sserdda ehT  f
 stcelfer noitinifed noitcnuf ni elbairav erutcurts ni edam egnahc ,ecnerefer yb dessap si erutcurts

.noitcnuf gnillac eht ni elbairav erutcurts lanigiro ni  

.3 margorp C elbatius a htiw serutcurts fo yarra tpecnoc eht nialpxE  ( 5102 NAJ ) 

 :nloS   erutcurtS C  depuorg era hcihw ) selbairav ( sepytatad tnereffid fo noitcelloc si
 osla si sihT .serutcurts fo noitcelloc tub gnihton si serutcurts fo yarra ,saerehW .rehtegot

.C ni yarra erutcurts sa dellac  

:C ni serutcurts fo yarra rof margorp elpmaxE  

 si margorp sihT  .stneduts 3 rof ”egatnecrep dna eman ,di“ ssecca dna erots ot desu
 .stneduts ynam rof sdrocer yalpsid dna erots ot margorp siht ni desu si yarra erutcurtS
 tcurts‘ sa elbairav erutcurts gniralced yb drocer stneduts fo rebmun ”n“ erots nac uoY

drocer tneduts .cte 0005 ro 0001 eb nac n erehw ,“]n[  

>h.oidts< edulcni#  
>h.gnirts< edulcni#  

 
 tneduts tcurts  

{ 
     ;di tni  
     ;]03[eman rahc  
     ;egatnecrep taolf  

;}  
  )(niam  
{ 

     ;i tni  
     ;]2[drocer tneduts tcurts  

 
     drocer s'tneduts ts1 //  
     i.]0[drocer ;1=d  
     ;)"ujaR" ,eman.]0[drocer(ypcrts  
     ;5.68 = egatnecrep.]0[drocer  

 
              drocer s'tneduts dn2 //  
     ;2=di.]1[drocer  
     ;)"nerdneruS" ,eman.]1[drocer(ypcrts  
     ;5.09 = egatnecrep.]1[drocer  

 
     drocer s'tneduts dr3 //  
     ]2[drocer ;3=di.  
     ;)"ugayihT" ,eman.]2[drocer(ypcrts  
     ;5.18 = egatnecrep.]2[drocer  

 
     )++i ;3<i ;0=i(rof  
     { 

          d% : TNEDUTS fo sdroceR     "(ftnirp \ ;)1+i ,"n  
          d% :si dI "(ftnirp \ ;)di.]i[drocer ,"n  
          s% :si emaN "(ftnirp \ cer ,"n ;)eman.]i[dro  
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         f% :si egatnecreP "(ftnirp \n\ ;)egatnecrep.]i[drocer,"n  
     } 

     
.4 snoitcnuf )(esolcf , )(nepof nialpxE ?elif si tahW  ( 5102 NAJ 5102 YLUJ/NUJ, ) 

nloS 	: art peek margorp eht tel lliw hcihw ,retniop ELIF a esu ot deen uoy O/I eliF C roF  eht fo kc
dessecca gnieb elif  

nepof  
 ev'uoy ecnO .retniop ELIF a snruter hcihw ,noitcnuf nepof eht esu ot deen uoy elif a nepo oT
 snoitcnuf tuptuo dna tupni mrofrep relipmoc eht tel ot retniop ELIF eht esu nac uoy ,elif a denepo
.elif eht no  

 

oc(nepof* ELIF ;)edom* rahc tsnoc ,emanelif* rahc tsn  

 elbuod esu ot rebmemer ot deen uoy ,tnemugra eht sa laretil gnirts a esu uoy fi ,emanelif eht nI
 sa hcus retcarahc epacse na ksir esiwrehto uoy sa hsalskcab elgnis a naht rehtar sehsalskcab \  .t

ehsalskcab elbuod gnisU  s \\  eht sepacse \  fo ,sresu ruoY .detcepxe si ti sa skrow gnirts eht os ,yek
.++C dna C ni deldnah era sgnirts detouq yaw eht tsuj s'tI !siht od ot deen ton od ,esruoc  

 :sedom nepof :swollof sa era nepof rof sedom dewolla ehT  

  r - gnidaer rof nepo  
  w - epo )tsixe ton deen elif( gnitirw rof n  

  a - )tsixe ton deen elif( gnidneppa rof nepo  
 +r - gninnigeb ta trats ,gnitirw dna gnidaer rof nepo  
 +w - )elif etirwrevo( gnitirw dna gnidaer rof nepo  

 +a - )stsixe elif fi dneppa( gnitirw dna gnidaer rof nepo  

: 
esolcf  

hW noitcnuf eht gnisu ti esolc dluohs uoy ,elif a htiw gnikrow enod er'uoy ne  
 

;)elif_a* ELIF(esolcf tni  

.yllufsseccus desolc si elif eht fi orez snruter esolcf  
 

si esolcf fo elpmaxe nA  

;)pf(esolcf  

 
.5 eyalpsid dna elif a morf detpecca si tupni eht woh nialpxE d( 5102 NAJ ) 

 
 :nloS tuptuO dna tupnI gnirtS  

 .emit a ta retcarahc eno naht erom tnirp dna teg ot spool rof gnitcurtsnoc redisnoc ton deen uoY
 gnitnirp dna tupni dradnats morf sgnirts elohw gnitteg rof snoitcnuf ralimis fo esu ekam nac uoY

uo dradnats ot meht .ylevitcepser stupf dna stegf era yehT .tupt  
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:sepytotorP  

.1  tni  stegf ( rahc  * s tcirtser , tni  n,  ELIF * maerts tcirtser );  
  

.2  tni  stupf ( rahc  * s tcirtser ,  ELIF * maerts tcirtser ); 
ulav gnirts eht gnittup rof yarra retcarahc a si stegf ot ssap uoy tnemugra tsrif ehT  eht morf nekat e

 eht otni detpecca tupni fo )setyb ni( ezis eht rof retimil a sa desu si eulav n ehT .maerts elif
 n ro ,”retnE“ fo sserp a ,FOE na stceted ti litnu maerts elif eht morf daer lliw stegf .s tnemugra –  1

av eht snruter tI .daer neeb evah setyb .retniop LLUN a ro s fo eul  

 eb lliw taht setyb fo rebmun a ssap ot uoy eriuqer ton seod ti taht sediseb ,emas eht tsomla si stupf
.ot ti tnirp ot tnaw uoy maerts eht dna ,tuo tnirp ot tnaw uoy yarra retcarahc eht sekat tI .detpecca  

lpmaxe ruo yfidom su teL .retcarahc a tsuj fo daetsni gnirts a tnirp dna daer ot e  

:c.gnirtsateg  

.1   # edulcni  >h.oidts<   

.2  diov  niam )(  { 

.3  tni   n = 04 ; 

.4  rahc  pi [n];  

.5  tpmorp//  rof  a ecnetnes  dna  teg  .tupni   

.6  ftnirp ( epyT"  a ecnetnes  dna  sserp  e "n.retn ); 

.7  stegf ( pi , n, nidts );  

.8  etirw//  tupni  eulav  kcab  tuo  ot  dradnats  .tuo   

.9  stupf ( pi , tuodts ); 
.01  } 

 
.6 erutcurts denifedepyt nialpxE ( . 5102 YLUJ/NUJ .)  

nloS : erutcurts  denifed  gnisu  fedepyt  drowyek  si  dellac  denifedepyt  .erutcurts  
fedepyT  tcurts  

{ atad  epyt  rebmem………  ;1  
   atad  rebmem..………epyt  ;2  
    rebmem..………epytatad  ;3  

;}   
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.7 :erutcurts gnisu stneduts N fo sliated gniwollof eht tupni ot margorp c a etirW  
rahc :edarg ,taolf :skram ,gnirts :eman ,regetni :on LLOR  

am htiw stneduts eht fo seman eht tnirP %0.07=>skr  ( YLUJ/NUJ  5102 .)  
 

:noituloS  
>h.oidts<edulcni#  
>h.oinoc<edulcni#  

tneduts tcurts  
{ 
 ;skram ,onllor   tni  
 ;edarg ,]02[eman rahc  
;}  

)(niam diov  
{ 
 ;0=dnuof,sop,n ,i  tni  
 ;]01[s  tneduts  tcurts  
 ;]02[emanyek  rahc  
 ;)(rcsrlc  
 mun eht retnE"(ftnirp stneduts fo reb \ ;)"n  
 ;)n&,"d%"(fnacs  
 )++i;n<i;0=i(rof  
 { 
  "(ftnirp \  sliated tneduts eht retnen \ ;)"n  
  ;)":rebmun llor eht retne"(ftnirp  
  ;)onllor.]i[s&,"d%"(fnacs  
  ;)":secaps etihw tuohtiw eman tneduts eht retne"(ftnirp  
  ;)eman.]i[s ,"s%"(fnacs  
  irp ;)" : skram eht retne"(ftn  
  ;)skram.]i[s& ,"d%"(fnacs  
  ;)" : edarg eht retne"(ftnirp  
  ;)nidts(hsulff  
  ;)edarg.]i[s&,"c%"(fnacs  
 } 
 "(ftnirp \  era sliated tnedutSn \ ;)"n  
 "(ftnirp \ onlloRn \ emaNt \t\t\ skraMt \ edarGt \ ;)"n  
 )++i;n<i;0=i(rof  
 

          { 
  tnirp d%"(f \ s%t \t\ d%t \ c%t \ ;)edarg.]i[s ,skram.]i[s ,eman.]i[s ,onllor.]i[s ,"n  

           }  
 "(ftnirp \ ;)":dehcraes eb ot emanyek eht retnEn  
 ;)emanyek ,"s%"(fnacs  
 )++i;n<i;0=i(rof  
 { 
  )0= =)emanyek ,eman.]i[s(pmcrts(fi  
  { 
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   "(ftnirp \  si tneduts eht fo skraMn ;)skram.]i[s ,"d% :  
   ;1 = dnuof  
  } 
 } 
 )0= = dnuof(fi  
  dnuof ton eman tneduts neviG “(ftnirp \ ;)”n  
 ;)(hcteg  
} 
 

ELUDOM  V 
 

 SRETNIOP  DNA  SROSSECORPERP  

.1   a si tahW  ?retniop  lla fo naem dna mus eht dnif ot C ni margorp a etirW
tniop esU .yarra na ni stnemele ygolonhcet re   ( 5102 NAJ 5102 YLUJ/NUJ, ) 

nloS  : A tl uoh gh arrays are g doo  things, we ac n ton  adjust t eh  is ze fo  th  me in t eh  mi dd le fo  
the program. If a ruo rr ya  is t oo  small - ruo  pr go r  ma w li l fail f ro  large ad t .a  If ruo  arr ya  is 
t oo  big - we waste a lot of s ap c a ,e gain restricti gn  w tah  we nac  .od  T eh  rig th  soluti no  is to 
ub ild the data s rt ucture rf mo  small pieces, an dda d  a wen  pie ec  wh ene ev r we n dee  to 

make it larger. Pointers are t eh  oc nnecti sno  whi hc  hold t eh s p e iec se  together! 
 

.2  oP inters i  n R lae  Life 
 
In m na  y ways  , tel enohpe  num eb rs serve sa  op inters i  n t ado y's s co iety  . T oc o nta tc  som  ,enoe
y n od uo o ah t ve to ca rr  y t meh  w ti h y uo  at all it mes. All uoy  ne de  is their un mber. M yna  
differ tne  p poe le nac  all ah v  e y ruo  un m reb  simu tl ena ously. All uoy  deen  od  is oc py the 
pointer. More oc mp il cat de  structur se  nac  b ub e ilt  yb combini op gn int re s. F ro  axe mpl  ,e

ohp ne tre se  ro  directory informatio .n  A dd ress se  are a mor hp e y is ac lly oc rrect analogy f ro  
pointe sr , si ecn  t yeh  rea ll y are memory dda re ss es. 
 

   Link  de Data Str cu tures 
 

All t eh  dy an mic ad ta structures we will build ah ve certain shar de  pro ep rties. eW  n dee  a 
point re  to th ne e t ri o e bj tce  so w  nac e if nd ti . Not  e that this i a s  pointer, not a cell. Each cell 
c no tai sn  o en  or more ad t  a if elds, which is what we w tna  to ts or .e  E ca h cell noc tai sn  a 
point re  field to at least one `` xen t' ec ' ll . T uh  s m hcu  fo  t  eh spa ec  us  de i  n link de  data 
str cu tures is not ad t !a  We must a eb bl  e to detect t dne eh  of t eh  dat  a rts uctur .e  This is w yh  
we n  dee t eh  NI op L inte sr . 

 
There are f ruo  fu cn tions de if n de  in c stan ad rd f ro  dy an mic memmory a ll co a it on - ac ll o ,c  
fre  ,e ma ll co  and rea ll o .c T eh  prototy ep  fo  ma ll oc ( ) f nu c it no  is - 
 
voi * d ma ll co  ( is ze_t un m eb r o_ f_bytes) 

 
T eh  prototy ep  fo  free ( ) fu cn ti  no is - 
 
voi  d rf ee (voi  d * )p  
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C uoS r ec  edoc  s oh w  n below shows simple met fo doh  u is gn  dy an mic me om ry 
a ll o ac ti no  elegan lt y – 
 
#incl edu  <stdio >h.  
 
#incl edu  <stdli >h.b  

 
i tn  main () 
 

{ 
 
 
i tn  * ;p  
 

 = p (i tn  )*  ma ll oc ( is z foe  (int) ); // Dy an mic Me mm ory A ll ocati no  
 

if (  == p LUN L) //I acn se fo  memmory a ll co ati  no failure xe ce ute t eh  err ro  h na d il gn  
edoc  bl kco  

 
{ 
.3   

 
p ir ntf ("\nO tu  fo  Me mm ory )" ; 
 
xe it (1); 

 
 

} 
 

01 = p* 0; 
 
p ir ntf "( \ p n   = %d", p* ); D// si pl ya  o 001 fc uo rs .e  
 
retur  n 0 
} 

 
 rossecorperp edulcni # dna enifed# nialpxE ? evitcerid rossecorperp si tahW.2

evitcerid 5102 NAJ( ) 

  :nloS  eht ni pets etarapes a si tub ,relipmoc eht fo trap ton si rossecorperP C ehT
 .loot noitutitsbus txet a tsuj si rossecorperP C a ,smret citsilpmis nI .ssecorp noitalipmoc

.PPC eht sa rossecorperP C eht ot refer ll'eW  
 iw nigeb senil rossecorperp llA ht   lanoitidnocnu ehT .401 .gp ssieW morf si gnitsil sihT .#

:era sevitcerid  
o edulcni#  - elif rehtona morf redaeh ralucitrap a stresnI  
o enifed#  - orcam rossecorperp a senifeD  
o fednu#  - orcam rossecorperp a senifednU  

:era sevitcerid lanoitidnoc ehT  

o fedfi#  -  fI denifed si orcam siht  
o fednfi#  - denifed ton si orcam siht fI  
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o fi#  - eurt si noitidnoc emit elipmoc a fi tseT  
o esle#  - fi# rof evitanretla ehT  
o file#  - tnemetats eno ni fi# na esle#  
o fidne#  - lanoitidnoc rossecorperp dnE  

:edulcni sevitcerid rehtO  

o # - tazignirtS tnatsnoc gnirts a htiw retemarap orcam a secalper ,noi  
o ##  - seno tnecajda owt morf nekot elgnis a setaerc ,egrem nekoT  

 :evoba eht fo selpmaxe emoS  
   02 HTGNEL_YARRA_XAM enifed#  

esU .02 htiw HTGNEL_YARRA_XAM fo secnatsni ecalper ot PPC eht slleT  enifed#  rof  
eht fo ecnesba eht ecitoN .ytilibadaer esaercni ot stnatsnoc  .;  

  >h.oidts< edulcni#  
  "h.gnirtsym" edulcni#  

morf h.oidts teg ot PPC eht slleT  seirarbiL metsyS   txen ehT .elif siht ot txet eht dda dna
otcerid lacol eht morf h.gnirtsym teg ot PPC sllet enil  sihT .elif eht ot txet eht dda dna yr

.fo eton ekat tsum uoy ecnereffid a si  

  EFIL_FO_GNINAEM fednu#  
  24 EFIL_FO_GNINAEM enifed#  

 
 .3  noitacolla yromem cimanyD )a nialpxE  

       5102 NAJ( noitcnuf )(collaM )b 5102 YLUJ/NUJ, ) 
 

nloS  : There are f ruo  fu cn tions de if n de  in c stan ad rd f ro  dy an mic memmory a ll co a it on - 
ac ll o ,c  fre  ,e ma ll co  and rea ll o .c T eh  prototy ep  fo  ma ll oc ( ) f nu c it no  is - 

 
voi * d ma ll co  ( is ze_t un m eb r o_ f_bytes) 

 
T eh  prototy ep  fo  free ( ) fu cn ti  no is - 

 
voi  d rf ee (voi  d * )p  

 
 

C uoS r ec  edoc  s oh w  n below s oh ws simple met fo doh  u is gn  dy an mic me om ry 
a ll o ac ti no  elegan lt y – 

 
#incl edu  <stdio >h.  

 
#incl edu  <stdli >h.b  

 
i tn  main () 

 
{ 
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i tn  * ;p  
 

 = p (i tn  )*  ma ll oc ( is z foe  (int) ); // Dy an mic Me mm ory A ll ocati no  
 

if (  == p LUN L) //I acn se fo  memmory a ll co ati  no failure cexe ute t eh  err ro  h na d il gn  edoc  
bl kco  

 
{ 
 

 
p ir ntf ("\nO tu  fo  Me mm ory )" ; 

 
xe it (1); 

 
 
} 

 

01 = p* 0; 
 

p ir ntf "( \ p n   = %d", p* ); D// si pl ya  o 001 fc uo rs .e  
 

retur  n 0; 
 

} 
 

.4   sepyt atad evitimirp non dna evitemerp era tahW ( 5102 NAJ  YLUJ/NUJ,
5102 ) 

	 :nloS  itimirP noN dna ev - sepyT atad evitimirP  

         otni deifissalc eb nac epyt atad ehT .elbairav a ni derots atad fo epyt eht seificeps epyt ataD
noN dna epyt atad evitimirP  :sepyt owt - epyt atad evitimirP  

EPYTATAD EVITIMIRP  

 
      b eht era sepyt atad evitimirp ehT  eht fo tsom ni elbaliava era taht sepyt atad cisa

.seulav elgnis tneserper ot desu era sepyt atad evitimirp ehT .segaugnal gnimmargorp  

 :regetnI   .tniop lamiced tuohtiw rebmun a tneserper ot desu si sihT  

            09 ,21 :gE  

 :elbuoD dna taolF  desu si sihT  .tniop lamiced htiw rebmun a tneserper ot  

            3.76 ,1.54 :gE  

  : retcarahC retcarahc elgnis tneserper ot desu si sihT  

             ’a‘ ,’C‘ :gE  
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 :gnirtS  .sretcarahc fo puorg tneserper ot desu si sihT  

             "egelloC cinhcetyloP L.V.P.S.M" :gE  

 B :naeloo  .eslaf ro eurt rehtie seulav lacigol tneserper desu si sihT  
  

 NON - SEPYTATAD EVITIMIRP  

  non sa nwonk era sepyt atad yramirp morf devired era taht sepyt atad ehT -  atad evitimirP
.seulav fo puorg erots ot desu era sepyt atad esehT .sepyt  

  

  non ehT - era sepyt atad evitimirp  

 syarrA  
 erutcurtS  
 noinU  
 tsil deknil  
 skcatS  
 cte eueuQ  

 
.5  )5102 NAJ( noitacilppa sti htiw gnola nialpxE. eueuQ enifeD  

 

nloS 	: seueuQ 	

:erutcurtS ataD eueuQ ehT  

 seueuQ  y erehw no snoitcirtser evah ,kcats eht ekil ,taht serutcurts atad era  dna dda nac uo
 devres si tnorf eht ta nosrep eht :enil airetefac a fo kniht ,eueuq a dnatsrednu oT .stnemele evomer
 dna ,tsrif devres si enil ni nosrep tsrif eht ,suhT .kcab eht ta enil eht ot dedda era elpoep dna ,tsrif

ihT .tsal devres si nosrep tsal eht  ot detaiverbba eb nac s F  tsri I  ,n F  tsri O ( tu OFIF .)  
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 ,skrowten gnimmargorp ni desu netfo era seueuQ .eueuq fo epyt eno si enil airetefac ehT
itarepo  secruoser erahs tsum sessecorp tnereffid ynam hcihw ni snoitautis rehto dna ,smetsys gn

.emit UPC sa hcus  

A eueuq  is il ke a il ne fo  pe po le waiti gn  f ro  a ba kn  te ll er. T eh  euq ue sah  a f tnor  a a dn  
re ra . 

 

nehW  we talk fo  euq u se  we talk oba ut two distinct e dn s: t eh  front dna  the rear. 
A dd ti i sno  to t eh  queu  e take pl eca  ta  the r ae r. Deleti sno  are m eda  fr  mo t eh  front. ,oS  if 
a j bo  is s bu m ti t de  f ro  xe e uc ti ,no  it joins a  t t eh  rear fo  t eh  j bo  euq u .e  T eh  j bo  ta  t eh  
fr tno  fo  t eh  uq eue  is the ne tx  one t eb o  xe uce t de  

 
 
Qu eue  Ope ar ti sno  
 

 • Q eueu  Overfl wo  
 

• Inserti  no of t eh  elem tne  int  o the uq e eu  
 

 • Q eueu  nu der lf wo  
 

 • Deleti no  fo  t eh  elem tne  fr mo  t eh  eueuq  
 

 • D si pl ya  fo  the euq ue 
 

 nialpxE .6  
            epyt atad tcartsbA )1  
             kcatS )2  
            tsil dekniL )3  5102 NAJ( 5102 YLUJ/NUJ, ) 

 

:erutcurtS ataD kcatS ehT  

 a ni deniatniam ot deen taht sgniht gnitneserper rof erutcurts atad nommoc a si kcats ehT
 driht a sllac nrut ni hcihw ,noitcnuf rehtona sllac noitcnuf a nehw ,ecnatsni roF .redro ralucitrap

'ti ,noitcnuf  eht naht rehtar noitcnuf dnoces eht ot kcab nruter noitcnuf driht eht taht tnatropmi s
.tsrif  
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              si noitatnemelpmi siht tuoba kniht ot yaw enO  no dekcats gnieb sa snoitcnuf fo kniht ot
 atad eht ,yaw siht nI .ffo nekat eno tsrif eht si kcats eht ot dedda eno tsal eht ;rehto hcae fo pot

 .sllac fo redro reporp eht secrofne flesti erutcurts  
 

                       ts od erehW ?laed gib eht s'tahw oS  ,nees ydaerla ev'uoy sA ?yalp otni emoc skca
 llac" eht ,tcaf nI .dellac era snoitcnuf woh tuoba sthguoht ruo ezinagro ot yaw lufesu a era skcats

 ot snoitcnuf rehto rof gnitiaw ro gnitucexe rehtie snoitcnuf fo tsil eht rof desu mret eht si "kcats
 .nruter  

 
             uoy nehW .ecneics retupmoc fo egaugnal latnemadnuf eht fo trap era skcats ,esnes a nI

 gnisu ti tuoba klat ot esnes sekam tsuj ti ,yteirav "tuo tsal ni tsrif" eht fo aedi na sserpxe ot tnaw
 wohs snoitarepo hcus ,revoeroM .ygolonimret nommoc eht  laciteroeht morf ,tol lufwa na pu

hsup a sa hcus sloot ecneics retupmoc -  fo snoitatnemelpmi gnidulcni ,IA ot notamotua nwod
htped -  .hcraes tsrif  

 
 :meht htiw detaicossa ygolonimret lufesu emos evah skcatS  

 hsuP  kcats eht ot tnemele na dda oT  
 poP  na evomer oT  kcots eht morf tnemele  
 keeP  meht gnivomer tuohtiw kcats eht ni stnemele ta kool oT  
 OFIL  kcats eht fo roivaheb tuo tsrif ,ni tsal eht ot srefeR  
 OLIF  OFIL ot tnelaviuqE  
 skcats	no	noitarepO  

o snoitarepo owt era ereht ,eman emas eht yb erutcurts atad eht ekiL  .pop dna hsup :kcats eht n  
 

:NOITAREPO HSUP  

      si kcats a fo noitarepo hsup ehT .kcats a ot ni tnemele wen a dda ot desu noitarepo na si HSUP
a fo noitidnoc wolfrevo ,noitarepo hsup eht gnitnemelpmi nehW .syarra gnisu detnemelpmi    kcats

dekcehc eb ot si  .)ton ro lluf si kcats eht rehtehw kcehc ot evah uoy ,.e.i(    si kcats eht fo ezis eht fI
 elbissop ton si tI .kcats eht otni stnemele 5 ylno )dda,.ei( tesni ot elbissop si ti neht ,5 sa denifed
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ecaps on si ereht ecnis ,kcats eht ot stnemele erom yna dda ot   eht ni stnemele eht etadommocca ot
.retteb sgniht dnatsrednu ot uoy spleh erudecorp gniwollof ehT .yarra  

:NOITAREPO POP  

      a fo noitarepo poP .kcats eht fo POT eht morf tnemele na evomer ot desu noitarepo na si poP
syarra gnisu detnemelpmi osla si kcats  wolfrednu ,noitarepo pop eh gnitnemelpmi nehW .

 .)ton ro ytpme si kcats eht rehtehw kcehc ot evah uoy ,.e.i( dekcehc eb ot si kcats a fo noitidnoc
 dna lagelli si tpmetta na fo epyt sihT .kcats ytpme na morf tnemele na pop ton dluohs resu ehT

iova eb dluohs  wolfrednu eht fo demrofni eb dluohs resu eht ,edam si tpmetta na hcus fI .ded
.retteb sgniht dnatsrednu ot uoy pleh nac erudecorp gniwollof ehT .noitidnoc  

 
 

kcatS	fo	snoitacilppA	.7.5 	

era skcats gnisu snoitacilppa tnatropmi emoS  

 ionaH fo srewoT  
 a gnisreveR  gnirts  
 snoisserpxe citemhtira fo noitaulavE  

STSIL	DEKNIL 	

  fo ecneuqes a fo stsisnoc taht erutcurts atad a si tsil deknil a ,ecneics retupmoc nI
 ,.e.i( ecnerefer a sniatnoc taht dleif a si ereht drocer hcae ni taht hcus sdrocer atad

ocer txen eht ot )knil a .ecneuqes eht ni dr  

 

  

 t ot knil a dna eulav regetni na :sdleif owt niatnoc sedon esohw tsil deknil A edon txen eh  

  ot desu era dna ,serutcurts atad nommoc tsom dna tselpmis eht gnoma era stsil dekniL
 ,selbat hsah ,seueuq ,skcats sa hcus ,serutcurts atad tcartsba tnatropmi ynam tnemelpmi

.erom ynam dna ,stsil piks ,snoisserpxe cilobmys  

 tifeneb lapicnirp ehT   eht fo redro eht taht si yarra lanoitnevnoc a revo tsil deknil a fo
 ro yromem ni derots era smeti atad eht taht redro eht morf tnereffid eb yam smeti deknil
 ni tniop yna ta sedon fo lavomer dna noitresni wolla stsil deknil ,nosaer taht roF .ksid no

il eht .snoitarepo fo rebmun tnatsnoc a htiw ,ts  

  ro ,atad eht ot ssecca modnar wolla ton od sevlesmeht yb stsil deknil ,dnah rehto eht nO
 snoitarepo cisab ynam ,suhT .gnixedni tneiciffe fo mrof yna —  tsal eht gniniatbo sa hcus
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 edon a gnidnif ro ,tsil eht fo edon  erehw ecalp eht gnitacol ro ,mutad nevig a sniatnoc taht
 detresni eb dluohs edon wen a — .stnemele tsil eht fo tsom gninnacs eriuqer yam  

  emehcS dna psiL sa hcus segaugnaL .segaugnal tsom ni detnemelpmi eb nac stsil dekniL
 ,ni tliub erutcurts atad eht evah larudecorP .tsil deknil eht ssecca ot snoitarepo htiw gnola  
tcejbo ro ,C sa hcus segaugnal -  no yler yllacipyt avaJ dna ,++C segaugnal detneiro

.stsil deknil etaerc ot secnerefer elbatum  

 


